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The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) Girls Enrolled (Out of 3500)
Basketball 16% 14 %
Soccer 21% 28%
Badmmton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the number of boys who are enrolled in the game Basketball ?

(1) 805
(2) 430
(3) 840
) 470

Question Number : 2 Question Id : 5330722059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of girls and the number of boys who are enrolled in the
game of Tennis ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Cricket is approximately % more than the number
of students who are enrolled in Badminton.

(1) 21.79

(2) 22.71

(3) 23.81

(4) 25.91

Question Number : 4 Question Id : 5330722061 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Soccer is % of the number of boys who are enrolled
in all the five sports games.

(1) 10.2

(2} 11r2

&y 122

(4) 13.2

Question Number : S Question Id : 5330722062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many boys are enrolled in Soccer and Tennis together ?

(1) 610
() 640
(B) 720
@) 710

Question Id : 5330722057 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

e arferem ® ek formera ® 202223 99 F SWA aRehedd, Feard, defied, fhhe ot e
ATF Yie STAT-STe Well § AWifha foafedal (sers 9 aifeerd) @i 9& 9 aifeenisii @ §&1 #6
ferr( %) feraor giien e ¥ Ternera # %@ 6000 fomnefl & e @eli | Amifea € o | anfeemsti =t
T&AT 3500 T | iR H YEd BT % SNUR W, 3T I8 T4 W & 3T ST |

oo™ ¥ faenfet =1 @a-ar AmieEA

yferera faazor
FeT srATfasa faameff (6000 # &) | @wifda aiferast (3500 7 )
TR-GCaTe 16% 14%
peaTel 21% 28%
Ssffiest 14% 16%
F¥e 29% 20%
e 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATEhREATe o Wl H AWifehd STeiehl i G &1 § ?

(1) 805
(2) 430
(3) 840
4) 470

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 3/97



8/23/24, 12:20 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 2 Question Id : 5330722059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & @a # Tmifera anfereristi ®1 S 3R aetehi 1 S o sia o R =1 e ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forepe o Amifera a1 dem Sefhe | Amifewa faenfert = g & e % HIEF T |
1) 21.79
@ 22.71
(3) 23.81
4) 25.91

Question Number : 4 Question Id : 5330722061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FedTed H AHifET o] i G g o well § A SerR i H5en i % ¥
1 10.2
@ 11.2
@) 122
4) 13.2

Question Number : 5 Question Id : 5330722062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feara i ey # faete fore wrere amiferd € 2

(1) 610

(2) 640

() 720

(4) 710
Sub-Section Number : 2
Sub-Section Id : 53307286
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330722063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'I never teach my pupils; I only attempt to provide the conditions in which they can learn’ is a
statement by :

(1) Swami Vivekananda

(2) Albert Einstein

(3) Sri Aurbindo

(4) Aristotle
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Question Number : 6 Question Id : 5330722063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B o BTE T off ver T 7, § how UE uRffaat Suers e § e 3 O 99 -9 e
frefafas sfm #F1 ¢ :

(1) @ fagsHs
(2) e FEEH
(3) f sRfer<

(4) SHF

Question Number : 7 Question Id : 5330722064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of learning, which of the following DOES NOT represent the self concept ?
) It is what an individual feels about others.

(2) Itis what an individual feels how others think/perceive of him/her.

(3) Itis an awareness of the individual about his/her strengths.

(4) It is an awareness of the individual about his/her weaknesses.

Question Number : 7 Question Id : 5330722064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st & ded # fefafga § € Sa-—a  stren sraamon’ =5 gfafafie 1@ e ?

(1) Tore =afed gR0 S84 3 9 Hegd 1 T 96 |

(2) T oafaa gro sgF o A gl g e e /g 7 o |
(3) T&d T/ IO /emared % IR H ot wafa o Stee |
(4) = F FHSAA & IR H FHH =t F S |

Question Number : 8 Question Id : 5330722065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represent characteristics of teaching ?
(A) To provide guidance and training to students

(B) Interaction between authorities

(C) To provide formal and informal education

(D) An art to import knowledge to students in an effective way

(E) To prepare policies for corporate bodies

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (A), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (O, (D) and (E) Only

Question Number : 8 Question Id : 5330722065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafas o & SH-df fodmars fasro =1 wd gfafafes = € 2
(A) B o AFTEYF IR gferaon <

(B) WIfH=RIEl & &= Harg

(C)  sfrorenfiar R arerg=niier fo1en gem &
(D) BTl I GATE 1 H JH UM FA Hl Fell
(B) wdie frarrai & fore wiifearl Sam s
= feu o fased § 9 Qe W F T4 HIAC ;
(1) e (A) TR (B)

(2) = (A), (D) &R (E)

(3) &= (A), (C) 3R (D)

(4) = (O), (D) ¥R (E)

Question Number : 9 Question Id : 5330722066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Learning style) (Characteristic)
A) Converger I They are best at concrete experience and reflective observation.
& ey P

Their strength is their i_magi_m:ltive abi_lity They tend to be
interested in penple and emotonal elements.

(B) Diverger (Il) They are good at Abstract Conceptualization and Active
Experimentation like solving problems; practical application of
ideas.

(C) Assimilator (IlI) They enjoy and seek new experiences and adopt to new

situations; and are intuitive, risk-takers open minded.

(D) Accomodator (IV) Ability to create theoretical models; possess sound logic,
inductive reasoning, Analytic less interested in people.

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IID), (C)-(II), (D)-(I)
(2)  (A)-(), (B)-(ID), (O)-(1), (D)-(1V)
(3)  (A)-(1D), (B)-(I), (C)(IV), (D)-(III)
4 (A)-1), (B}(ID), (O)~), (D)-(IV)

Question Number : 9 Question Id : 5330722066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11
( 3fermm ( afurereroT )
(A) TS () 329 sryEl SR femaeie Garoi & fore wataw g 1 39 ufsa
FTH] FEGARIST il AFGAT | T 9 S SR WraHraTes aol J s
T g |
(B) ETHESR () o oTod Hyciem 3R 9w TEr S8 auemel o gEeE o,
forami o =Eeris ST § o7 B B
(C) reqETasal (L)) & 9T TS FTd & S ITH 378 o & AR 72 gftfeefadi & stqga
T M 2; St 2 g, Sifem e € ol wer femm arct 2 #
(D) THwE (IV) =79 Sgifcsk AiSTl &1 o1 HA T &0 Bl ¢ 19 deh YIfaR gl €
FTHATCH: Toh I 21t ¢, & faveror e aret 2ra § o ot 3 %9
4 ww@Ed 2
v feu o fawmedi § | WE I F =TI FIfAU
(1) (AHIV), (B)-(LID), (O)-(11), (D)-(I)
(2) (A)-(Im), (B)«(ID), (©)-1), (D)-(IV)
(3) (A1, (B)-(I), (O)-(IV), (D)~(I0)
(4)  (AHD), (By-(IT), (O-(Im), (D)-(IV)

uestion Number : 10 Question Id : 5330722067 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i

(
(
(
(

Q

Education is the manifestation of perfectio:n a]_ready mn man” is a statement by :

1) Rabindranath Tagore

2y M.K. Gandhi

3)  Sri Aurobindo

4) Swami Vivekananda

uestion Number : 10 Question Id : 5330722067 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

]

(
(
(
(

Q
C

“foreat, W H vESt @ A feem ol B Yok 8 Foreiferfian # @ for st o e 2

1) =T 2R

2)  THE. T

3) ot afa=

4) @ faeEHe

uestion Number : 11 Question Id : 5330722068 Question Type : MCQ Option Shuffling : No

orrect Marks : 2 Wrong Marks : 0
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Survey research on a single, case with a view to revealing important features about its nature,

corresponds to which of the [nllowi_ng research designs ?
(1) Cross - sectional

(2) Longitudinal
(3) Case study
(4) Comparative

Question Number : 11 Question Id : 5330722068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot wehet W () # 3H@ Uohfa Hadt Hemyul sfieremii @1 3SR #A #1 gfe 9 foean s aren

e vy = § § 9 ¥ Wy oifiehed & guey €2
(1) gfafeaTeass

2 oA
(3) RO HAETH
{4) qefrcHsh

Question Number : 12 Question Id : 5330722069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the I‘D]lDWi.ng is concerned with the question whether the measure of a concept truly

represents that concept ?
(1) internal validity

(2) external validity
(3) construct validity
(4) transferability

Question Number : 12 Question Id : 5330722069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 % 9 [ 39 7§ Heitua € for 5 Tt deheamn =1 A9 9 wraa o Se Heheu 1 Wittt s

€7

(1)  safteR e
(2) @ o

(3) TafHa Sz
(4)  SFariaa

Question Number : 13 Question Id : 5330722070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the data sets with following pairs of mean (x)and standard direction () in increasing

order of their coefficient of variation.
(A) a=50o=12

(B)
(©)

=550c=10

= |

= |

=60,0=14

@) x=70,0=15
Choose the correct answer from the options given below :
(1) (A), (B) (©), (D)
(2) (B), (D) (Q), (A)
(3) (©. (D) (A), (B)
(49) (D) (B) (A) (Q)

Question Number : 13 Question Id : 5330722070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl ¥ % WA (x) 9 HEe foEer (o) It R Il el SR YR e % wed 3 H erattem
Hifer ;

(AY x=500=12

(B)
(©)

=55 0c=10

=1

= |

=60,0c=14

(DY x=70,0="15
= feu o fawedi 9 Qi I F1 =T FfST
(1) (A), (B) (C), (D)
(2) (B), (D) (©), (A)
3) (©), (D) (A), (B)
(4) (D), (B) (A), (©)

Question Number : 14 Question Id : 5330722071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on plagiarism, a student’s registration in the Ph.D. Program
will be cancelled for which of the fD]lDwi_ng similarities percentage in the thesis ?

(A) 37%

(B) 46%
(C) 58%
(D) 62%
(E) 78%

Choose the correct answer from the options given below :
(1) (A), (B) (O), (D) Only

@ (®), (© (D), (E) Only

(3) (), (D) and (E) Only

(4) (D) and (E) Only

Question Number : 14 Question Id : 5330722071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uifeferes =k Fast 350490 faftem 2018 % STER Rl 9. 0=, Fedsn & foaenef &1 gsiewon 39s
e gay 3 = § | fopan wiosra gwmar & s 1§ fman s ?

(A) 37%
(B) 46%
(C) 58%
(D) 62%
() 78%

= fau o faredi § 9 Qe IR 1 999 FIfE
(1) FEe (A), (B) (C) &R (D)

(2) FF (B), (O) (D) 3R (E)
(3) = (C), (D) 3R (E)
(4) HF (D) 3T (E)

Question Number : 15 Question Id : 5330722072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Type of variable) (Example)
(A) Nominal (I) Distance
(B) Ordinal (I1) Marital status
(C) Interval (IlI) Movie ratings
(D) Ratio (IV) Location of places in Latitude degrees

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (©)-(1), (D)-(IV)

@ (A1), (B)-(11), (©)-@), (D)-1V)
() (A, (B)-(1V), (O)-(11), (D)-()
@) (A1), (B)-(1), (©)-1V), (D)-(1)
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Question Number : 15 Question Id : 5330722072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
Tt - 1 et - 11

(X F USHT) ( 3erET )
(A) TR o T
(B) THHIIF (I) =efess =i
(C) sHauafy (1) =rf= e
(D) =9 (IV) =3eqie feait | i &l farefa

= fau o faskedi # @ W&t IW /T HTAC
(1) (A)-(), (B)-(1D), (O)-1), (D)-(1V)
(2 (A)-(D), (B)-(ID, (C)-1), (D)-(IV)
(3) (A, (B)-(IV), (O)-(ID), (D)-()
(4) (A1), (B)-(LID), (C)-V), (D)-()

Question Number : 16 Question Id : 5330722073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Devarshi Narada is treated as the first communicator, because :

(1) He always speaks against the others.

(2)

(3) He is not everywhere everytime.
)

(4) He is faithful to his lord.

Question Number : 16 Question Id : 5330722073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< ARE T g HERE THT 5§, i

(1) © oW SHY * fEgers =o€ |

(2) 9 TARIE 9 de €, UaTehRRI o s Heaee] T © SR WuTe & aeadl # foae @ wmw
(3) YT HHY W M W HSE T @

(4) 9 319 W F Ufd TEER & € |

Question Number : 17 Question Id : 5330722074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the Printing process ?

(1) G.Marconi

(2) Tang Dynasty

(3) William Caxton

(4) Johannes Gutenberg

Question Number : 17 Question Id : 5330722074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeU U9 1 =90 e fran o ?
(1) i, HERTH

(2) @ SEARRL

(3) Tafeaw wage

(4) Sierg A

Question Number : 18 Question Id : 5330722075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the following types of communication in proper sequence :
(A) Group

(B) Public

(C) Mass communication

(D) Intrapersonal

(E) Interpersonal

Choose the correct answer from the options given below :
(1) (D), (E) (A), (B) and (C)

(2) (E), (D) (O), (B) and (A)

(3) (&), (B) (©), (E) and (D)

(4)  (B), (A) (©), (D) and (E)

Question Number : 18 Question Id : 5330722075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HaR o frforfaa gerl =i sfEa s § fofa .

(A) HIE

(B) WIESIE

(C) M =R

(D) gt
(E) erdafdas

e feu o foreredl & 9 T S = FE
1 O E (A) B R (O

2) (B), D) (©), (B) AR (A)
(3) (A), (B) (O, (E) ¥R (D)
4) (B), (A) (O, (D) 3R (E)

Question Number : 19 Question Id : 5330722076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/97



8/23/24, 12:20 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Who sends what to whom in a communication process ?
(A) Channel sends the message to sender.

(B) Sender sends messages to receiver.

(C) Sender sends the feedback receiver.

(D) Receiver sends messages to sender.

Choose the correct answer from the options given below :
(1) (A) Only

() (B) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Question Number : 19 Question Id : 5330722076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R giswar | H g = s ® 2

(A) =, Y9 ] HQ9 Al & |

(B) e, Wriehdl I HeW ST € |

(C) e, wraekal 1 Ffagfiz (Hise) G T
(D) WTeshdl, YUk I GEw T ¥

= fou u foeredi # 9 & IW 1 F9H AT -

(1) I (A)
(2) eI (B)
(3) FE (A) ¥R (D)
(4) = (B) 2R (O)

Question Number : 20 Question Id : 5330722077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Communication terms) (Features)
(A) Effective verbal communication () Knowledge and skills
(B) Effective communication (II) Insufficient knowledge

(C) Effective non-verbal communication  (III) Effective speaking
(D) Barrier of communication (IV) Body language
Choose the correct answer from the options given below :

(1) (A)-D, (B)-I), (Q-IV), (D))

2) (A1), (B)-11), ©)-@), (D)-1V)
() (A)-(D), (B)-(D), (O)-(), (D)-(V)
4)  (A)-(I), (B)-(D), (O(1V), (D)1

Question Number : 20 Question Id : 5330722077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 196 |19 gt - 11 31 e wife |
et - 1 T - 11

(Hu e v ) ( fagrard )
(A) HuET wfeges Higm () TH R R
(B)  wEt Wy (I) 9t 99
(C) W TR-ynfagar Tomor () ST ®9 § S
(D) TER F 37elH (IV) Teka

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(IL), (O)-(1V), (D)-(11)
(2) (A, (B)-(I1D), (C)-(), (D)-(IV)
(3)  (A)-(D, (B)-(1), (C)-(IL), (D)-(IV)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 21 Question Id : 5330722078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘A’ takes twice as much time as ‘B’ to complete a work and ‘C’ does it in the same time as both ‘A’
and ‘B’ together do it. If all three of them work together and complete the work in 5 days, then the
time taken by ‘B’ to complete the work alone is :

(1) 12 days
(2) 14 days
(3) 15 days
(4) 18 days

Question Number : 21 Question Id : 5330722078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepeft =Te &1 90 T | ‘A7 1B’ H AT 99 ORTT € S C 59 I I Saq 994 H 90 o o € T
g A B 3 T frere 38 g e § 1 afe 9 o w fresm w e s feii d e an € A
=9 4 I TR T FA § B I TR wHg @i ?

1y 12f@=
(2) 14 fed
(3) 15 fea
(4) 18 f&m

Question Number : 22 Question Id : 5330722079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 persons consume 810 kg of food in 27 days. In how many days will 60 persons consume 300 kg
of food ?

(1) 12 days
(2) 13 days
(3) 15 days
(4) 18 days
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Question Number : 22 Question Id : 5330722079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 &I 810 Teredt it 27 feri ® Teu = €1 60 & forad foAl # 300 kg HISH &9 T ?
(1) 12fH F

(2 13fAid
(3) 15 fedi
(4) 18fcHi 7

Question Number : 23 Question Id : 5330722080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fraction in decreasing order :

12
A) 75
7
B 13
11
© 17
17
D) =5

Choose the correct answer from the options given below :
(1) @A), (B) (©), (D)
@ (©). A (D), (B)
(3)  (B), (O, (D), (A)
(4) (D) (A) (B), O

Question Number : 23 Question Id : 5330722080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et Tl 1 w28 5w 4 ot Y
12
A I
7
B =
11
€ =
17
1=

A fe o fased & | W& IW F T HC
(1) &), (B) (©), D)
(2 (©), (A) (D), (B)
(3)  (B), (©), (D), (A)
4) (D) (A) (B), ©)

Question Number : 24 Question Id : 5330722081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the number that occurs in the series 2, 10, 30, 68, 130, ....... A
(A) 738

(B) 349
(C) 520
(D) 222

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (O) and (D) Only
(3) (A), (C) and (D) Only
4) (A), (B) and (D) Only

Question Number : 24 Question Id : 5330722081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2, 10, 30, 68, 130, ........... H 37 9Tel 37! H1 Ted |

(A) 738
(B) 349
(C) 520
(D) 222

=1 feu T fomredl § § WeH Sugerd 3T T =TI HIN0

(1) eI (A), (B) 3R (O)
(2) = (B), (C) &R (D)
(3) = (A), (C) IR (D)
(4) A (A), (B) 3R (D)
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Question Number : 25 Question Id : 5330722082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - I1
(Word) (Unique Code)
(A) PRIME (I 69
(B) SIGHT (Im 72
(C) QUITE (III) 63
(D) RHYME (V) el

Choose the correct answer from the options given below :
(1) (A)HD), (B}-(II), (O)-(Im), (D)-(IV)
2 A1), (B)-(1), (©)-1V), (D)-1)
(3)  (A)-(1LV), (B)-(IIL), (C)~(11), (D)-(I)
(4)  (A)(II), (B)-(IV), (O)-(I), (D)-(IT)

Question Number : 25 Question Id : 5330722082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
et - 1 et - 11

== (Word) ( fgera 2 )
(A) PRIME @ 69
(B) SIGHT a 72
(C) QUITE ) 63
(D) RHYME 1) 61

A feu o faepedi & | W@ I = HS
(1) (ARD), (B)(L), (C)(I), (D)-(IV)
2 (AHID, B)-111), (C)-V), (D))
(3)  (A)-IV), (B)-(), (O)-(1D), (D)-()
(4) (A, (BA(IV), (CHD), (D)-(ID)

Question Number : 26 Question Id : 5330722083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred from the following ?

“Because x=3 and y =5, then x+y=8§"

Itisa:

(1) Deductive argument based on elimination

(2) Deductive argument based on Mathematics
(3) Inductive argument from Authority
(4) Inductive argument from Principle of Charity

Question Number : 26 Question Id : 5330722083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa & 1 STHHM @ S W € 7
“FGifH x=3 AR y=5T x+y=8"
TET

(1) =% faeme smenfa fFrmArTs o
(2) @8 iU seIid FeAmeHe a9 2|
(3) @& WIfHRRT & YT ANTHAH ek ¢ |
) eI o TaEia | W SARTHAHSE a9 © |

Question Number : 27 Question Id : 5330722084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a common pattern of Deductive Reasoning ?
(1) Hypothetical Syllogism

(2) Categorical Syllogism

(3) Argument from Definition

(4) Predictive Argument

Question Number : 27 Question Id : 5330722084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefaa & 4 Fm-a Frmares 9F & ame= ey (Yed) 79 € ?
(1) WTRRCTICHE =19 S

(2) freuier =m s

(3) O & 9T ah

(4)  wfoergEe 76

Question Number : 28 Question Id : 5330722085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can be claimed of Deductive argument correctly ?
(A) I the premises are true, then the conclusion is pmbably true.

(B) If the premises are true, then the conclusion must be true.

(C) It is unlikely for the premises to be true and the conclusion false.

(D) The conclusion follows necessarily from the premises.

(E) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (D) and (E) Only

(4) (A), (D) and (E) Only

Question Number : 28 Question Id : 5330722085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa § & s o % 9N § ®FE 96 T/ € 2

(A) AfE MR o Fe & o TRy Hyed: Jed 2 |

(B) Afg YR arR Hed € of ferd 1oy 9 2 |

(C) YR areEl & T B4 T2 T9RY &1 19 S 91: 999 el Bial |
(D) Trepd srframd w9 § R 9t | srfoe S e

(E) |l SN Skl o1 Sl el a2 e 31 79 €1 STHYE 2 |
= feu mu forredi § § W& 3T A =TI FHY

(1) e (A), (B) 3 ()

(2) & (A) 3R (C)
(3) @d (B), (D) i (E)
(4) HEA (A), (D) 3R (E)

Question Number : 29 Question Id : 5330722086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Concept) (Description)
(A) Statement (I) A statement in an argument that is intended to be proved or
supported by the premises
(B) Premise (II) A sentence that can be viewed as True or False
(€) Conclusion (ITlI) Group of statements intended to prove or support another
statement
(D)  Argument (IV) Reason why we should accept another statement or conclusion

Choose the correct answer from the options given below :
(1) (A)-(LD), (B)-(I), (C)-(L), (D)-(IV)
(2)  (A)-(1D), (B)-(IV), (O)-(I), (D)-(III)
(3)  (A)-IV), (B)-(I), (C)-(II), (D)-(I)
(4)  (A)-(1D), (B)-(III), (C)-(1V), (D)-(I)

Question Number : 29 Question Id : 5330722086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

( 3@ ) (Fuis)
(A) F @O T giaa o = Fy 59 esmur s g weifora = gafia e
ST S €
(B) NHRATH (1) T o o O o1 789 o ®9 1 <@ & Hehal € |
(C) Traewd (II1) =Fei =1 T9e fSHek g0 319 oA &1 Yo o1 gafda fean s
o ¥
(D) I (IV) &H S8 e a1 fepd o 1 Telieh Tl =N1feq, S9! I |

Fr= feu mu fasedi ¥ | W& T T 7 FHIGC
(1) (A, (B)-(D), (O)-(1), (D)-(IV)
(2 (A)-ID, (B)-(IV), (O)-), (D)-(1II)
(3)  (A)-V), (B)-(D), (O)-(IL), (D)~(11)
(4) (A1, (B)-(1D, (©)-1V), (D)1

Question Number : 30 Question Id : 5330722087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Term/concept) (Description)
(A) Upanaya (I)  The knowledge of Paksadharmata as qualified by Vyapti
(B) Paramarsa (I) The invariable relation or association of the Middle term in the
minor term
(C) Vyapt (IlI) The application of the universal concomitance to the present
case
(D) Paksadharmata (IV) The invariable association of the middle term with the major
term

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(T), (O)-II), (D)-(IV)
(2)  (A)-(II), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(1V), (B)-(III), (O)-(I), (D)-(II)
(4) (A)-(L), (B)-(I), (C)-(IV), (D)-(II)

Question Number : 30 Question Id : 5330722087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
T - 1 et - 11

(U/ASEITTO) (=i )
(A) 3IF () =Aftd gRI ATeaa qarHd 1 I
(B) R (1) ¥ 95 3R 981 9g &1 FRuare gey s7erer 9eed
(C) = (1) TrEifoes geafdar & ada mme § sy
(D) TaerHa (IV) ¥4 9% 3R |9 98 1 fems wead

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(ID, (B)-(1), (O)-(11L), (D)-(1V)
(2)  (A)-(m), (B)-(ID), (C)-(1V), (D)-(D)
(3)  (A)-(LV), (B)~(IIL), (O)~(I), (D)-(IT)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 31 Question Id : 5330722088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ChatGPT is an Al chatbot developed by OpenAl and was launched in November 2022. What
does ChatGPT stand for ?

(1) Chat Generative Pre-trained Transmission

(2) Chat General Pre-trained Technology

(3) Chat Generalized Pre-trained Technique

(4)

Chat Generative Pre-trained Transformer

Question Number : 31 Question Id : 5330722088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SHE. @A TaTE. 5 faewfaa uw 0w afs (T, Jeeie v SR 5 Tee 2022 § wafda fw
T 1| HE S, g AT e ?

(1) == SRfes dfi-gve gifaeH

(2) =T TS W-ZUE TS
(3) 2 SHeTgse W-2ue ZoFHh
(4) 2 SHifEa W TUe TEEER

Question Number : 32 Question Id : 5330722089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following snapshot of MS-EXCEL worksheet :

A B B

1 90 70
Z 60 170
3 150 | 20
4 30 110
3 50 40
6 130 | 30
7

What will be the value of the cell C1 conl:ai_lﬁng the formula=SUMIF(A1:A6,">100",B1:B6) in the
above worksheet ?

(1) 90
() 390
(3) 50
(4) 420

Question Number : 32 Question Id : 5330722089 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

UH,UH, U 1 95 F e Sueiie g faamr #ifs .

A B &

1 90 70
2 60 170
3 150 | 20
4 30 110
5 50 40
6 130 | 30
o

IEF Frd 9T H FwE ClL H I =SUMIF(A1:A6,>100”,B1:B6) T L 9L | 1 €711 7

(1) 90
) 390
@) 50
(4) 420

Question Number : 33 Question Id : 5330722090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If (L)ys represents a number L in base - M number system, then identify the correct descending
order of the fU]lDwi_ng number A-D, when converted to base-10 number system.

(A) (9C)yq

(B) (233)

© (1),

(D) (10011110),

Choose the correct answer from the options given below :
(1) (©), (D) (B), (A)

(@) (D) (©)(A) (B)

(3) (B, (O) (A), (D)

4) D) Q). (B), (A)

Question Number : 33 Question Id : 5330722090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afg (L), o5 TH 3ok JUIel! H Sieh Tl i Sl 8, df 774 35 A-D =l s[9-10 37 Fomel H ®9ia i
T IR Hel STeiel A i Tedr FIfS ;

(A) (9C)
(B) (233)g
(©) (313);

(D) (10011110,

= feu T faehedi § & W@ ST =EE H
1) (©, (D) (B) (A)

2 ©O) (©) (A) (B)

3)  (B) (©) (A) (D)

@) (D) (©) (B) (A)

Question Number : 34 Question Id : 5330722091 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What are the advantages of using Cloud Computing word processing software ?
(A) The user does not have to install word processing software on the computer.
(B) The user does not have to allocate space to install software in the hard disk.

(C) Storage space to save the document is provided by the cloud provider. The user can open or
edit the document from any computer which has Internet facility.

(D) If the user has slow Internet connection, then he/she would not face any problems accessing
or downloading his/her documents.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (B), (O) and (D) Only

(4) (A), (B) and (C) Only

Question Number : 34 Question Id : 5330722091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FARE FT I TG TiRerR % WA F F1-31 &1 € ?

(A) W F FHE R g WAfET Sireaar yfaweifu 7 & e 2

(B) AR T WiwzeRR i 1 & fou e fewr-—H A seEfed 721 e g 2|

(C) v =i Gifem TaA B YR TN F8E Wer YoM Hdl €| e see gfan arer et oft
FU H Yor@l Sl @il SAYe Hurfed T Hehel 2|

(D) afe gEER 1 3202 FAFE i 2, 91 Y 199 Jordl a9 TR d SAYel 3¢ SR I H I g
&l 2 |

= feu U fomredi # & W& I A =TI FY

(1) e (A) 3R (B)

(2) = (A) 3R (C)
(3) = (B), (C) 3 (D)
(4) = (A), (B) IR (O)

Question Number : 35 Question Id : 5330722092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Initiatives in Higher Education) (Description)
(A) GIAN (I) Translation of research knowledge into viable
technology (products and processes)
(B) IMPRINT-2 (II)  Achieve three Cardinal principles of Education policy
namely, access, equity and quality
(C) DIGILOCKER (IIT) Tap the talent pool of scientists and entrepreneurs
internationally
(D) SWAYAM (IV) Issuance and verification of documents and

certificates in a digital way
Choose the correct answer from the options given below :
(1) (A, (B1), (O-(I), (D)-(IV)
@ (A, B)-0), (C)HIV), (D))
(B) (A, (BRI, (O-(11), (D)-(IV)
(4) (A, (B)D, (C-IV), (D))

Question Number : 35 Question Id : 5330722092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e )
il - 1 T - 11

( == fomer o wget ) ( fererroT )
(A) A (Hemue.) () i S o1 oAderd Ureifiehl (3e 9 9fhand) # sfawm
(B) 3fFge-2 () Toen fifa & &9 qorga fosidi-s9rmy, e o qoEs =
T FAl
(©) fesfars (L) STAErg WX W AR 9 el & Tfas e & T@e
(D) =4 (WEFUIRTTH.) (V) fesfiea adF ¥ yordi 9 wHmosi sl St T 9 ST T
T

== feu o foshed ®§ 9 W& IR F =TI HIGC ;
(1) (A)-(IL), (B)-(I), (©)-(1), (D)-(IV)

2 (A1), B)-(1), (O~1V), (D)-(1)
(3)  (AHD), (By-(I), (O)-(I), (D)-(IV)
(4) (A, (B)-D), (O-(1V), (D)(I)

Question Number : 36 Question Id : 5330722093 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Based on the source of their food, organisms occupy a specific place in the food chain, known as :
(1) Trophic level

(2) Standing crop

(3) Top level organism

(4) Species level

Question Number : 36 Question Id : 5330722093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T W % BT o AR W @ e # sial 5 ek fafere e g ® s e v F e @
(1) et =R

2 T
(3) Y wEE e
(4) Sftasid T

Question Number : 37 Question Id : 5330722094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a primary air pollutant ?

1) COo
2) NO
(@) O,

4) SO,

Question Number : 37 Question Id : 5330722094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=1 § | 1 uF mufas 9m yguE T § 7
1) Co

(2) NO

(3) O3

4) SO,

Question Number : 38 Question Id : 5330722095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following gases in ascending order of their global warming potential (GWD).
(A) CO,

(B) CH,
(C) SF,
(D) CFC-11
E) N,0

Choose the correct answer from the options given below :
(1) @A), (B) (O), (E), (D)
(2) (A). (B) (E), (D), (O)
(3)  (B), (©) (A), (E), (D)
(4) (A). (E) (B), (D), (O

Question Number : 38 Question Id : 5330722095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et i <1 St afveer araa Suferar & sTiE sha § sgafierd Sifse :

(A) CO,
(B) CH,
(C) SF,
(D) CFC-11
(E) N,O

= feu mu fasedi ¥ | W& I T 7 FHIGC
(1) (A (B) (O, (B), (D)
(2 (A)(B) (B, (D). ©
(3) (B) (© (A), (E), (D)
@) (A), (B B), (D), ©

Question Number : 39 Question Id : 5330722096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are global scale Phenomenon ?
(A) Ozone layer depletion

(B) Global warming

(C) Forest Fire

(D) Sea level rise

(E)  Air pollution

Choose the correct answer from the options given below :
(I) (A), (C) and (D) Only

() (A), (B), (C) and (D) Only

(3) (B, (C) and (E) Only

(4) (A), (B) and (D) Only

Question Number : 39 Question Id : 5330722096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 & @ BF-H YHead W H TREeA 2
(A) S 9 o

(B) dfYar A

(C) =&

(D) WIR TR H g

(E) =g HgH™

e feu T foreredl & 9 T S F = T
(1) Fd (A), (©) R (D)

(2) F=@ (A), (B), (O) 3 (D)
(3) @ (B), (C) #H (E)
(4) E (A), (B) ¥R (D)

Question Number : 40 Question Id : 5330722097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(International Meetings) (Key objectives)
(A) Kyoto protocol (I) Global warming
(B) Montreal protocol (II) Biodiversity conservation
(C) Rio Summit (IIl) Ozone depletion
(D) Paris Agreement (IV) Solar Alliance

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (ORI, (D)-(IV)

2 (A1), (B)-1), (©)-@), (D)-1V)
() (A)-(), (B)-(D), (O-(IV), (D)-(IT)
() (AHIV), (B)(1D), (O)-(1), (D))
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Question Number : 40 Question Id : 5330722097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 136 |19 gt - 1 e e )
et - 1 et - I

(feiedia e ) (7 R=¥a)
(A) IR YrEreTe () Sfs
(B) Wifzad dreieTa (1) Stafefawar e
() Treh forer Trer (L) SIS &for
(D) uftw wsiar (IV) HR 4y (Tems)

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(III), (O)(IT), (D)-(IV)
(2) (A, (B)-(I1D), (C)-(1), (D)-(IV)
(3)  (A)-(II), (B)-(D). (O-(IV), (D)-(IT)
(4)  (A)-(1V), (B)~(II), (O)~(1), (D)-(11I)

Question Number : 41 Question Id : 5330722098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing open Universities according to their year of establishment in Chronological

order (Older - New) :

(A) Yashwant Rao Chavan Maharashtra Open University
(B) Karnataka State Open University

(C) U.P. Rajarshi Tandon Open University

(D) Kota Open University

(E) Madhya Pradesh Bhoj Open University

Choose the correct answer from the options given below :
1) (A (B), ©), (D) (E)

2) (D) (A) (B), (B) (O

(3)  B), (©) (E) (A), (D)

) D) (A), (B), (O), (E)

Question Number : 41 Question Id : 5330722098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafes g favafaareal +1 TFT ®WNUA-99 F FAFAHEAR FAftgqd FISC
(90 | 74 & FH H):

(A) TS =ee Henre e fovafeemea

(B) AEH T T Tava Tammem

(C) 7. usifd Z=4 g favafaea

(D) =hler o favafeaerea

() WA Yeu1 9 waa favafaenmea

49 fau 7o fawredi ¥ ¥ WE S F 999 FIfAU ;

(1) (A), (B), (O), (D), (E)
(2 (D) (A) (E), (B) (C)
(3)  (B), (O) (E), (A), (D)
4 (D) (A), (B), (C) (B)

Question Number : 42 Question Id : 5330722099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(MOOCs Quadrant) (Component)
(A) Quadrant I (I) e-Tutorial
(B) Quadrant II (I1)  e-Content
(C) Quadrant III (III) Web Resources
(D) Quadrant IV (IV) Self Assessment

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2)  (A)(D), (B)-(IIL), (C)-(I), (D)-(IV)
(3) (A1), (B)-(V), (O)-(I), (D)~{IL)
(4)  (A)-(IV), (B)-(1), (C)-(IM), (D)-(I)

Question Number : 42 Question Id : 5330722099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

(YT =T ) (o2 )
(A) et () 3-Toemrl
(B) =t II () E-foawa-a%
(C) = Il (II1) =F O
(D) =AT IV (IV) =E-TediFa

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(1L), (O)-(11L), (D)-(1V)
(2)  (A)-(D), (B)-(IIT), (C)-(I), (D)-(IV)
(3)  (A)-(1D, (B)-IV), (O)-(1), (D)-(IIL)
(4)  (A)-LV), (B)-(1), (C)-(LL), (D)-(11)

Question Number : 43 Question Id : 5330722100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where did nuns and monks meditate, debate and discuss with learned for their quest for knnwledge ?
(1) Monasteries

(2) Basadis
(3) Churches
(4) Ghatika

Question Number : 43 Question Id : 5330722100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fuegforat wd fueg o1 I % e & ford el W eAmE, o fagri & e ae-dare vd faan-fans
FA 42

(1) foerd

(2) wHied |
(3) frReERi §
(4) wfesw H

Question Number : 44 Question Id : 5330722101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following themes of Sustainable Development Goals according to their goal number
n i_ncreasi_ng order.

(A) Gender Equality

(B) Zero Hunger

(C) Peace and Justice

(D) Climate Action

(E) Quality Education

Choose the correct answer from the options given below :
(1 ®B), (E) (A), (D), (O)

(2 (A). (B), (D), (O), (E)

3)  (©), (D) (A), (E), (B)

(4) (B), (A). (B), (D), (C)

Question Number : 44 Question Id : 5330722101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad fawm el & fefatag fawai (o) #1376 @80 9@ & 991 9ed 80 %0 ¥ oFafed
I
(A) Sfirr (Sfer) FuEE

(B) YEw{ o wHIfE
(C) wfd o =m
(D) SIAIH-FHAR
(E)  TUreTIeR e

e feu o fawedi § | WE I F =T FIfAT
(1)  (B), (E), (A), (D). (C)
(2)  (A), (B), (D), (O), (E)
(3) (©), (D), (A), (E), (B)
4) (B), (A), (E), (D), (O)

Question Number : 45 Question Id : 5330722102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of following are the parts of AYUSH undergraduate education ?
(A) Siddha

(B) Sowa - Rigpa

(C) Yoga-Shastra

(D) Homoeopathy

(E) Sanjeevani

Choose the correct answer from the options given below :

() (A), (B) and (E) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (©) and (E) Only

Question Number : 45 Question Id : 5330722102 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

frfefaa & | $F 319y (TR, 3,091, ) [&-Fas fas F 9 € ?
(A) faz

(B) Hraw-fm

(C) AT

(D) el

(E) wsfrat

= feu o fawredi W | WE I F =TI FIfSU

(1) e (A), (B) 31 (E)

(2) e (B), (C) ¥R (D)

(3) A (A), (B) 3R (D)

(4) A (A), (C) 3 (E)
Sub-Section Number : 3
Sub-Section Id : 53307287
Question Shuffling Allowed : No

Question Id : 5330722103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidya_nath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered to be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition- This is specia]_ly so in the case of games like hockey, archery
and cricket at both the national and the international levels.

Sub questions

Question Number : 46 Question Id : 5330722104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The organisation of archeological workshops has helped to create awareness about :
(1) Arts and Crafts

(2)  Built heritage

(3) Bamboo and woodcraft

(4) Games and sports

Question Number : 47 Question Id : 5330722105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jharkhand has become a favourite destination for visitors from India and abroad because of its :
(I) Stone carving activities

)  Mineral wealth
(3) Natural attractions

) Central location

Question Number : 48 Question Id : 5330722106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following activities is NOT included with state government initiative for enrichment

?

(1) Bamboo and woodcraft
(2) Tribal painting

(3) Stone carving

(4) Rock Painting

Question Number : 49 Question Id : 5330722107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which combination of sports has [harkhand gained national and international recognition ?

(1) Cricket, archery and hockey
(2) Cricket, archery and shooting
(3) Croquet, Cricket and archery
(4) Cricket, football and hockey

Question Number : 50 Question Id : 5330722108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which city was once considered the hub of education in Jharkhand ?

(1) Deoghar

(2) Ranchi
(3) Jamshedpur
(4) Koderma

Question Id : 5330722103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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e Trenier Rt ufeu 3iiv 39k @1g U9 T Uyl o I i

T Yok U9 | GHfed g o qvEd, FEve ekl afed gl &9 # gad wfa s @ B 1 O i A
YRIEY o HaY H YUdcid FEYTesl o SATArs gRI U4 i Sidl o aild STReehdl 3099 & o 39 JamH fergrg
¥ Y TeEF gUE |

T SHAT 1 Fenedi @R g & Hada ¥ fau 759 wig soae safed 3 & fau uea of =5 2 §)
9T wTepfaes stera fafa & off 5 T S oin foewll & wdeei % fou v fig vided wa a9 T | S S
ey, Grewhe, HeF Jiy, 0 ufee T8 Fo ToF € el 9 g ¥ gdes o € | 159 TR o7fen fag e ol
Torem el & WY-WY a9 9 H1S ew = 99g A oY fav w9 8 genag €1 e & & § v awa |-
T[oTEr o1 ForeT =R o WA ST STel YT UE U 9 YA: 391 Giaeet A T E | Wordhs o &5 H o T
J T T ure S U a9y o e, et o forthe S wel % ume H U 9 Sfaiig T W e
|

Sub questions

Question Number : 46 Question Id : 5330722104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R ErEeensl & o |3 e 8§ frges gey 1 sireshar 30 A § Wer # § 2

(1) e = forey

(2) fafa =ee

(3) G T HISH
)

WA o WAFS

Question Number : 47 Question Id : 5330722105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o I forgs R EvE aRa @R fessh | ydes! o fou v g e Toe 59 T 2
(1) Tomer-aerreh framrem

(4

(2) @S HEl
(3) TERfde AR
(4) FHEMA sEfeafa

Question Number : 48 Question Id : 5330722106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & 7 @1 o e dada ¥9 50 9 #1 ved § aftafed @ 2

(1) =9 9 Frefeeg
(2) enfew fesere
(3) o emmft

(4) T fesmERen

Question Number : 49 Question Id : 5330722107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gorEs o 1 0 § o waem o e 3 U 9 A o e #5802

(1) TreRe, drigrst 9 gt
(2) foreRe, diEmST 9 gfen
(3) e, fFwe T Trem
(4) TFFe, Fea= e

Question Number : 50 Question Id : 5330722108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AREUE H 1 H | A o1 8 U GHE T T1eT1 o1 e W1 S o ?

(1) TaH

(2 w=

(3) SHRIEE

(4) =T

French

Section Id : 53307230
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 53307288
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5330722109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui est I'autewr du roman Les Faux-Monnayeurs ?
Choisissez la bonne réponse :

¥ Albert Camus

2, André Malraux

3 André Gide

4 Marguerite Duras

Question Number : 51 Question Id : 5330722109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Qui est I'auteur du roman Les Faux-Monnayeurs ?
Choisissez la bonne réponse :

L. Albert Camus

2 André Malraux

3 André Gide

4 Marguerite Duras

Question Number : 52 Question Id : 5330722110 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
De quelle figure de style s agit-il dans la phrase suivante :
« L angoisse lui tordait 1’estomac » ?

Choisissez la bonne réponse :

L Hyperbole
2, Métaphore
3 Oxymore
4. Métonymie

Question Number : 52 Question Id : 5330722110 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
De quelle figure de style s”agit-il dans la phrase suivante :
« L angoisse lui tordait I’estomac » ?

Choisissez la bonne réponse :

B Hyperbole
Z, Métaphore
3 Oxymore
4. Métonymie

Question Number : 53 Question Id : 5330722111 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Avec quel courant littéraire associe-t-on la notion de I’écriture automatique ?

Choisissez la bonne réponse :

1. Le surréalisme
2 Le réalisme

3. Le romantisme
4 Le naturalisme

Question Number : 53 Question Id : 5330722111 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Avec quel courant littéraire associe-t-on la notion de I’écriture automatique ?

Choisissez la bonne réponse :

1. Le surréalisme
2 Le réalisme

o Le romantisme
4 Le naturalisme

Question Number : 54 Question Id : 5330722112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel dramaturge considérait le théitre comme peste ?

Choisissez la bonne réponse :

{2 Antonin Artaud
2 Jean-Paul Sartre
3, Eugene lonesco
4 Alfred Jarry

Question Number : 54 Question Id : 5330722112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel dramaturge considérait le théitre comme peste ?

Choisissez la bonne réponse :

1. Antonin Artaud
2 Jean-Paul Sartre
3 Eugéne lonesco
4 Alfred Jarry

Question Number : 55 Question Id : 5330722113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquelles de ces ceuvres ont €te ecrites par Stendhal ?
A. Le Rouge et le Noir

B. La Condition humaine
C. La Chartreuse de Parme
D. Germinal

Choisissez la bonne réponse :

B AetB

2. AetC

3. BetC

4 CetD

Question Number : 55 Question Id : 5330722113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Lesquelles de ces ceuvres ont €te ecrites par Stendhal ?
A Le Rouge et le Noir

B. La Condition humaine
C. La Chartreuse de Parme
D. Germinal

Choisissez la bonne réponse :

s AetB

2. AetC

3. BetC

4 CetD

Question Number : 56 Question Id : 5330722114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels de ces auteurs appartiennent au mouvement littéraire du Nouveau Roman ?

A Gustave Flaubert
B. Marcel Proust
C. Nathalie Sarraute

D. Alain Robbe-Grillet

Choisissez la bonne réponse :

1. AetB
.5 AetC
> BetC
4, CetD

Question Number : 56 Question Id : 5330722114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels de ces auteurs appartiennent au mouvement littéraire du Nouveau Roman ?

A Gustave Flaubert
B. Marcel Proust
C. Nathalie Sarraute

D. Alain Robbe-Grillet

Choisissez la bonne réponse :

1. AetB
5 AetC
X BetC
4, CetD

Question Number : 57 Question Id : 5330722115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A (ceuvres)

Colonne B (auteures)

A. Un barrage contre le Pacifique | 1. Marguerite Duras

B. Le Grand Cahier 11 Marguerite Y ourcenar
C. Portrait d'un inconnu II.  Agota Kristof

D. Meémoires d’Hadrien IV.  Nathalie Sarraute

Choisissez la bonne réponse :
I A-I1, B-11I, C-1, D-1V

2. A-IIL, B-1V, C-11, D-1
3. A-L B-III, C-1V, D-11
4. A-1V, B-1, C-11, D-111

Question Number : 57 Question Id : 5330722115 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A (ceuvres)

Colonne B (auteures)

A. Un barrage contre le Pacifique | 1. Marguerite Duras

B. Le Grand Cahier 11 Marguerite Y ourcenar
C. Portrait d'un inconnu II.  Agota Kristof

D. Meémoires d’Hadrien IV.  Nathalie Sarraute

Choisissez la bonne réponse :
I A-I1, B-11I, C-1, D-1V

2. A-IIL, B-1V, C-11, D-1
3. A-L B-III, C-1V, D-11
4. A-1V, B-1, C-11, D-111

Question Number : 58 Question Id : 5330722116 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A Colonne B
Le refrain | L. Une strophe de 3 vers
Le tercet | IL La répétition réguliere des paroles dans un poéme

SEE

La césure | 1L

Un élément court de la phrase qui se trouve au vers suivant

D. Le rejet 5,18

La coupe qui partage un alexandrin en deux hémistiches

Choisissez la bonne réponse :
I A-IIL, B-11, C-1, D-1V

2. A-IL, B-1, C-1V, D-111
3. A-L B-1II, C-1V, D-11
4. A-1V, B-III, C-11, D-1
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Question Number : 58 Question Id : 5330722116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A Colonne B
A. Le refrain | L. Une strophe de 3 vers
B. Le tercet | IL La répétition réguliere des paroles dans un poéme
C. La césure | IIL Un élément court de la phrase qui se trouve au vers suivant
D. Le rejet IV.  La coupe qui partage un alexandrin en deux hémistiches

Choisissez la bonne réponse :
I A-IIL, B-11, C-1, D-1V

2. A-IL, B-1, C-1V, D-111
3. A-L B-1II, C-1V, D-11
4. A-1V, B-III, C-11, D-1

Question Number : 59 Question Id : 5330722117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez dans I’ordre chronologique les ceuvres suivantes (de la plus ancienne & la plus récente).
Les Rougon-Macquart

La Bataille d’Hernani

La Modification

L ’Amant

A la recherche du temps perdu

MDA R

Choisissez la bonne réponse:

1. A,B,C,D,E
2. A,C,D,B,E
3. B,A.E.C.D
4 C,D,A,B.E

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 40/97



8/23/24, 12:20 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 59 Question Id : 5330722117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez dans I’ordre chronologique les ceuvres suivantes (de la plus ancienne & la plus récente).
Les Rougon-Macquart

La Bataille d’Hernani

La Modification

L ’Amant

A la recherche du temps perdu

MDA R

Choisissez la bonne réponse:
1; A.B.C.D.E
2 A,C.D,B,E
3. B,A,E,C,D
4 C.DABE

Question Number : 60 Question Id : 5330722118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez dans I’ordre chronologique les mouvements littéraires suivants (du plus ancien au plus

v

récent).

Le réalisme
L’humanisme
Le surréalisme

Le classicisme

mg0R

Le Nouveau Roman
Choisissez la bonne réponse:
A.B,C,D, E
A,C,D,B.E
B,D,ACE
CD.ABE

For R b

Question Number : 60 Question Id : 5330722118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Classez dans 1’ordre chronologique les mouvements littéraires suivants (du plus ancien au plus

n

—

cent).

Mo n® >

Le réalisme

L’humanisme

Le surréalisme

Le classicisme

Le Nouveau Roman

Choisissez la bonne réponse:
A.B.C,D.E
A,C. DB E
B,D,ACE
CD.ARE

L.
.8
3.
4.

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 61 Question Id : 5330722119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L

Question Number : 61 Question Id : 5330722119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L

Question Number : 62 Question Id : 5330722120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la Colonne A a ceux de la Colonne B.

Colonne A Colonne B
A. Le message I. Fonction expressive
B. Le contexte II. Fonction poétique
ol Le destinateur | III. Fonction référentielle
D. Le destinataire | IV. Fonction conative

Choisissez la bonne réponse :
A-IIL, B- IV, C-11, D-1
A-11, B-111, C-1, D-1V
A-1V, B-1, C-1II, D-I1
A-1, B-11, C-1V, D-111

e Chd

F~

Question Number : 62 Question Id : 5330722120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la Colonne A a ceux de la Colonne B.

Colonne A Colonne B
A. Le message I. Fonction expressive
B. Le contexte II. Fonction poétique
o Le destinateur | III. Fonction référentielle
D. Le destinataire | IV. Fonction conative

Choisissez la bonne réponse :
A-III, B- IV, C-11, D-1
A-II, B-1II, C-1, D-1V
A-IV, B-1, C-111, D-1I
A-l, B-11, C-1V, D-111

o i

i

Question Number : 63 Question Id : 5330722121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ly

Question Number : 63 Question Id : 5330722121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ly

Question Number : 64 Question Id : 5330722122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qu’est-ce qui caractérise le discours oral ?

A.

B.
C.
D.

C’est un discours spontane, irreversible : la correction n’est possible que si on presente le

message sous une autre forme.

On se sert d’une syntaxe claboree.

Les gestes et les mimiques réduisent le discours.

C’est une communication différée.

Choisissez la bonne réponse :

2.
3.
4

AetB
AetC
BetC
CetD

Question Number : 64 Question Id : 5330722122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Qu’est-ce qui caractérise le discours oral ?

A. C’est un discours spontane, irréversible : la correction n’est possible que si on presente le
message sous une autre forme.

B. On se sert d’une syntaxe claboree.

C. Les gestes et les mimiques réduisent le discours.

D. C’est une communication différee.

Choisissez la bonne réponse :

1. AetB
i AetC
% BetC
4 CetD

Question Number : 65 Question Id : 5330722123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquelles des consonnes suivantes sont des dentales ?

A. p/

B. /b/

C. It/

D. /d/

Choisissez la bonne réponse :
L. AetB

2 AetC

3. BetC

4. CetD

Question Number : 65 Question Id : 5330722123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquelles des consonnes suivantes sont des dentales ?

A. p/

B. /b/

C. It/

D. /d/

Choisissez la bonne réponse :
L. AetB

2 AetC

3. BetC

4. CetD

Question Number : 66 Question Id : 5330722124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Qu’est-ce que la sémiologie ?

Choisissez la bonne réponse :

2.
3.
4

Etude d’un systeme de signes particuliers.

Etude scientifique du vocabulaire.

Etude des différences physiques que I’auditeur percoit dans la realisation des phonemes.

Etude de tous les systemes de communication et de signes non linguistiques.

Question Number : 66 Question Id : 5330722124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qu’est-ce que la sémiologie ?

Choisissez la bonne réponse :

2.
3.
4

Etude d’un systeme de signes particuliers.

Etude scientifique du vocabulaire.

Etude des différences physiques que 1’auditeur percoit dans la realisation des phonemes.

Etude de tous les systemes de communication et de signes non linguistiques.

Question Number : 67 Question Id : 5330722125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Laquelle des phrases suivantes est un exemple de la fonction phatique ?

Choisissez la bonne réponse :

2.
3.
4

Dominique, salut !

Assieds-toi Pierre.

Ce que tu appelles bronze, c’est la couleur du pain bien cuit.
Tu es bronze Pierrot et beau comme 1’éte.

Question Number : 67 Question Id : 5330722125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Laquelle des phrases suivantes est un exemple de la fonction phatique ?

Choisissez la bonne réponse :

2.
3.
4

Dominique, salut !

Assieds-toi Pierre.

Ce que tu appelles bronze, c’est la couleur du pain bien cuit.
Tu es bronze Pierrot et beau comme 1°€te.

Question Number : 68 Question Id : 5330722126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Complétez la phrase suivante : C’est demain que nous présenterons nos jumeaux sur les
baptismaux, viens avec ton harmonica, tu feras la musique du__ !
Choisissez la bonne réponse :
l. fond-fonds
font- fond

fonts-fond

-l ol o

fonds-fonts

Question Number : 68 Question Id : 5330722126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Complétez la phrase suivante : C’est demain que nous présenterons nos jumeaux sur les
baptismaux, viens avec ton harmonica, tu feras la musique du__ !

Choisissez la bonne réponse :

. fond-fonds
2, font- fond
) fonts-fond
4, fonds-fonts

Question Number : 69 Question Id : 5330722127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Combien y a-t-il de marques phoniques et de marques graphiques du nombre dans la phrase
suivante : Les enfants jouent.

Choisissez la bonne réponse :

l. 1/3
2, 3/1
3, 3/2
4. 2/3

Question Number : 69 Question Id : 5330722127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Combien y a-t-il de marques phoniques et de marques graphiques du nombre dans la phrase
suivante : Les enfants jouent.

Choisissez la bonne réponse :

l. 1/3
2 3/1
3, 3/2
4. 2/3

Question Number : 70 Question Id : 5330722128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Quelle est la forme correcte du verbe entre parenthéses ?
Dans I’hypothése ou tu (trouver) un bon hétel, réserve-moi une chambre.

Choisissez la bonne réponse :

. trouverai
2. trouverais
3. trouverait
4. trouvais

Question Number : 70 Question Id : 5330722128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est la forme correcte du verbe entre parenthéses 7
Dans I’hypothese ot tu (trouver) un bon hétel, réserve-moi une chambre.

Choisissez la bonne réponse :

) trouverai
2. trouverais
o trouverait
4. trouvais

Question Number : 71 Question Id : 5330722129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" A

Question Number : 71 Question Id : 5330722129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" A

Question Number : 72 Question Id : 5330722130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

En quelle année Hugues Capet est devenu le roi de France ?

Choisissez la bonne réponse :

1; 496
2, 800
3, 987
-+ 1214

Question Number : 72 Question Id : 5330722130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

En quelle année Hugues Capet est devenu le roi de France ?

Choisissez la bonne réponse :

I; 496
2, 800
3, 987
-+ 1214
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Question Number : 73 Question Id : 5330722131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est I’activite économique clé de Normandie et de Bretagne ?

Choisissez la bonne réponse:

2.
3.
4

La péche

L’industrie electronique
Le Prét-a-porter
L’industrie acrospatiale

Question Number : 73 Question Id : 5330722131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est I’activite économique clé de Normandie et de Bretagne ?

Choisissez la bonne réponse:

2.
3.
4

La péche

L’industrie electronique
Le Prét-a-porter
L’industrie acrospatiale

Question Number : 74 Question Id : 5330722132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui a découvert le Canada ?

Choisissez la bonne réponse :

2.
3.
4

Jacques Cartier
Richelieu
Christophe Colomb

Vasco de Gama

Question Number : 74 Question Id : 5330722132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui a découvert le Canada ?

Choisissez la bonne réponse :

2.
3.
4

Jacques Cartier
Richelieu
Christophe Colomb

Vasco de Gama

Question Number : 75 Question Id : 5330722133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ou siege la Commission européenne ?

Choisissez la bonne réponse :

2.
3.
4

Paris
Lyon
Strasbourg

Bruxelles

Question Number : 75 Question Id : 5330722133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ou siege la Commission européenne ?

Choisissez la bonne réponse :

2.
3.
4

Paris
Lyon
Strasbourg

Bruxelles

Question Number : 76 Question Id : 5330722134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Parmi les propositions suivantes, lesquelles sont correctes ?

A.
B.
C.
D.

Jeanne d’Arc a delivre 1a ville d’Orleans.
Jeanne d’Arc est morte en 1531.

Jeanne d’ Arc est morte a Rouen.

Jeanne d’ Arc a delivre Paris.

Choisissez la bonne réponse :

b e

AetB
AetC
BetC
CetD

Question Number : 76 Question Id : 5330722134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Parmi les propositions suivantes, lesquelles sont correctes ?

A. Jeanne d’Arc a delivre 1a ville d’Orléans.
B. Jeanne d’Arc est morte en 1531.

C. Jeanne d’Arc est morte a Rouen.

B Jeanne d’ Arc a délivre Paris.

Choisissez la bonne réponse :

1. AetB
2 AetC
8 BetC
4. CetD

Question Number : 77 Question Id : 5330722135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Parmi les propositions suivantes, lesquelles sont correctes ?
A. L’Edit de Nantes a €te signe par Henri I'V.

B. L’Edit de Nantes a €te signe par Henri I11.

i L’Edit de Nantes date de 1598.

D. L’Edit de Nantes date de 1572.

Choisissez la bonne réponse :

L AetC
2 AetD
3. BetC
4, CetD

Question Number : 77 Question Id : 5330722135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Parmi les propositions suivantes, lesquelles sont correctes ?
A. L’Edit de Nantes a €te signé par Henri I'V.

B. L Edit de Nantes a éte signe par Henri II1.

. L Edit de Nantes date de 1598.

D. L Edit de Nantes date de 1572.

Choisissez la bonne réponse :

L AetC
L AetD
% BetC
4, CetD

Question Number : 78 Question Id : 5330722136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A Colonne B

A. Traitée de Paris £ 1789

B. Mort de Louis XV | IL 1783

. Traité de Versailles | 1L 1763

D. Prise de la Bastille | IV. 1774
Choisissez la bonne réponse :

I. A-II1, B-1V, C-11, D-1

2 A-II1L, B-1V, C-1, D-1I

3. A-I1, B-1, C-111, D-1V
4. A-1V, B-11, C-1, D-111

Question Number : 78 Question Id : 5330722136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A Colonne B
A. Traitée de Paris £ 1789
B. Mort de Louis XV | IL 1783
. Traité de Versailles | 1L 1763
D. Prise de la Bastille | IV. 1774

Choisissez la bonne réponse :

BN

A-IIL B-1V, C-11, D-1
A-IIL B-1V, C-1, D-11
A-II, B-1, C-1II, D-1V
A-1V, B-11, C-1, D-111

Question Number : 79 Question Id : 5330722137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B.

Colonne A Colonne B

A, Limoges L. Les bétises (bonbons)
B. Vichy I1. La faience

5 Cambray I1I. Le tissu

D. Nimes IV.  L’eau gazeuse

Choisissez la bonne réponse :

1:

2.
o
4

A-IIL B-1V, C-1, D-I
A-IL, B-IV, C-1, D-II
A-L, B-IV, C-111, D-1I
A-IV, B-1, C-111, D-1I
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Question Number : 79 Question Id : 5330722137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A Colonne B

A. Limoges L. Les bétises (bonbons)
B. Vichy IL. La faience

Bk Cambray II. Le tissu

D. Nimes IV.  L’eau gazeuse

Choisissez la bonne réponse :
I A-IIL, B-1V, C-1, D-1I
2. A-11, B-1V, C-1, D-III
3 A-l, B-1V, C-111, D-11
4 A-1V, B-1, C-111, D-II

Question Number : 80 Question Id : 5330722138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Comment peut-on classer dans un ordre chronologique les Présidents de la République francaise
(du plus ancien au plus récent) ?

A. Jacques Chirac

Charles de Gaulle

Francois Hollande

Francois Mitterrand

moaw

Nicolas Sarkozy
Choisissez la bonne réponse.
1; A.C,D,E,B

. C.E.A,B,D

3. B,D,AEC

4. E,A.B.D,C

Question Number : 80 Question Id : 5330722138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Comment peut-on classer dans un ordre chronologique les Présidents de la République francaise
(du plus ancien au plus récent) ?

A. Jacques Chirac

Charles de Gaulle

Francois Hollande

mga g

Choisissez la bonne réponse.

L.
.8
3.
4.

Francois Mitterrand

Nicolas Sarkozy

APETER
C.E,A.B.D
B,D,A.E,C
E,A.B,D,C

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 81 Question Id : 5330722139 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Classez les événements historiques du plus ancien au plus récent.

Mmoo w

Choisissez la bonne réponse :

B B e

Indépendance algérienne
Conquéte d’Egypte par Napoleon

Indépendance tunisienne

Le Maroc devient Protectorat francais

La Tunisie devient Protectorat francais

B,D,E, A, C
B,E.D,C, A
B,E,C,D, A
E,D,B,A,C

Question Number : 81 Question Id : 5330722139 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Classez les événements historiques du plus ancien au plus récent.

Mg oW

Choisissez la bonne réponse :

Ll

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

Indépendance algérienne
Conquete d’Egypte par Napoleon

Indépendance tunisienne

Le Maroc devient Protectorat francais

La Tunisie devient Protectorat francais

B D.EAC
B,E.D,C A
B.ECD, A
E.D.B,A,C
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Question Number : 82 Question Id : 5330722140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
=

Question Number : 82 Question Id : 5330722140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
e

Question Number : 83 Question Id : 5330722141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel traductologue a proposé ces trois modeles de traduction: métaphrase, paraphrase,
imitation ?

Choisissez la bonne réponse :

1. Antoine Prévost
. Jacques Delille
3, John Dryden

4 Jacques Amyot

Question Number : 83 Question Id : 5330722141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel traductologue a proposé ces trois modeles de traduction : métaphrase, paraphrase,
imitation ?

Choisissez la bonne réponse :

1. Antoine Prévost
2, Jacques Delille
3 John Dryden

4 Jacques Amyot

Question Number : 84 Question Id : 5330722142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquelles des propositions suivantes caractérisent 1’approche sourciere ?

A. L’approche sourciere se focalise sur le public qui se servira de la traduction.
B. L’approche sourcicre est tournée vers le texte source et I'auteur du texte.

€

=3

En employant I’approch

Question Number : 84 Question Id : 5330722142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Lesquelles des propositions suivantes caracterisent 1’approche sourciere ?

A. L’approche sourciere se focalise sur le public qui se servira de la traduction.
B. L approche sourciere est tournée vers le texte source et I’auteur du texte.
C: En employant 1’approch i

Question Number : 85 Question Id : 5330722143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est une autre appellation de la « théorie interprétative de la traduction » ?

Choisissez la bonne réponse :

I; Théorie du sens

2 Théorie postcoloniale de la traduction
3 Théorie linguistique de la traduction
4 Théorie du polysysteme

Question Number : 85 Question Id : 5330722143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est une autre appellation de la « théorie interprétative de la traduction » ?
Choisissez la bonne réponse :

Théorie du sens

Théorie postcoloniale de la traduction

Théorie linguistique de la traduction

a0 oo

Théorie du polysysteme

Question Number : 86 Question Id : 5330722144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la colonne A A ceux de la colonne B.

Colonne A (Procédés) Colonne B (Définition)
A. Etoffement L Traduire littéralement le mot ou 1’expression de la

langue de départ

B.

Question Number : 86 Question Id : 5330722144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A (Procédés) Colonne B (Définition)
A. Etoffement L Traduire littéralement le mot ou 1’expression de la

langue de départ

B.

Question Number : 87 Question Id : 5330722145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la colonne A i ceux de la colonne B.

Colonne A Colonne B
A. La théorie du skopos 1 Danica Seleskovitch et Marianne Lederer
B. La théorie du polysystéeme IL. Justa Holz-Manttari

Question Number : 87 Question Id : 5330722145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B.

Colonne A Colonne B
A. La théorie du skopos E: Danica Seleskovitch et Marianne Lederer
B. La théorie du polysystéme IL. Justa Holz-Manttari

Question Number : 88 Question Id : 5330722146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P

Question Number : 88 Question Id : 5330722146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
=

Question Number : 89 Question Id : 5330722147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Comment appelle-t-on le texte qui fait partie du projet de traduction et qui sera traduit au moyen

d’une action traductionnelle ?

Choisissez la bonne réponse :

-l ol o

Le texte cible

Le texte source
Le texte d’arrivee
Le texte traduit

Question Number : 89 Question Id : 5330722147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Comment appelle-t-on le texte qui fait partie du projet de traduction et qui sera traduit au moyen

d’une action traductionnelle ?

Choisissez la bonne réponse :

e

Le texte cible

Le texte source
Le texte d’arrivee
Le texte traduit

Question Number : 90 Question Id : 5330722148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui a traduit Ret Samadhi de Geetanjali Shree en francais ?

Choisissez la bonne réponse :

2.
3.
4

Annie Montaut
France Bhattacharya
Fernand Quellet

Sherry Simon

Question Number : 90 Question Id : 5330722148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui a traduit Ret Samadhi de Geetanjali Shree en francais ?

Choisissez la bonne réponse :

2.
3.
4

Annie Montaut
France Bhattacharya
Fernand Ouellet

Sherry Simon

Question Number : 91 Question Id : 5330722149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[P A

Question Number : 91 Question Id : 5330722149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ly
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Question Number : 92 Question Id : 5330722150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel est le nom de plume du célébre auteur, Francois-Marie Arouet ?

Choisissez la bonne réponse :

L Villon

2, Montesquieu
3 Moliere

4 Voltaire

Question Number : 92 Question Id : 5330722150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel est le nom de plume du célebre auteur, Francois-Marie Arouet ?

Choisissez la bonne réponse :

(% Villon

Z, Montesquieu
3 Moliere

4 Voltaire

Question Number : 93 Question Id : 5330722151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Augquel siecle appartient le célébre roman francais intitulé La Princesse de Cléves ?
Choisissez la bonne réponse :

1 Moyen Age

2, XVe siecle

3, XVle siecle

-+ XVlle siecle

Question Number : 93 Question Id : 5330722151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Augquel siecle appartient le célebre roman francais intitulé La Princesse de Cléves ?
Choisissez la bonne réponse :

1 Moyen Age

2, XVe siecle

3, XVle siecle

-+ XVlle siecle

Question Number : 94 Question Id : 5330722152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Lequel des écrivains €tait musicien, horloger, trafiquant d’armes et auteur des pieces de théitre a
la fois ?

Choisissez la bonne réponse :

s Voltaire

2, Beaumarchais
3 Marivaux

4, Moliére

Question Number : 94 Question Id : 5330722152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lequel des ecrivains ctait musicien, horloger, trafiquant d’armes et auteur des piéces de théitre a
la fois ?

Choisissez la bonne réponse :

s Voltaire

2. Beaumarchais
% Marivaux

4, Moliére

Question Number : 95 Question Id : 5330722153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez ces auteurs dans I’ordre chronologique (du plus ancien au plus moderne).

A. Pascal
B. Hugo

C. Rabelais
D. Diderot
E. Turold

Choisissez la bonne réponse :
L. A,B,C,D,E

2. D,C.B.AE
3. C.D.E,A,B
4 E.CADB

Question Number : 95 Question Id : 5330722153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Classez ces auteurs dans I’ordre chronologique (du plus ancien au plus modermne).

Choisissez la bonne réponse :

2.
3.
4

Mmoo w

Pascal
Hugo
Rabelais
Diderot
Turold

A,B,C,D.E
D,C,B,AE
C,D,E, A, B
E,C,A,D,B

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 96 Question Id : 5330722154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez ces auteurs dans I’ordre chronologique (du plus moderne au plus ancien).

Choisissez la bonne réponse :

B L B e

Mmoo w

Rabelais
Marivaux

Adam de la Halle
Corneille

Musset

A,C,E,D,B
D,.C,E, B, A
E.B,D,A,C
E,C,A,D,B

Question Number : 96 Question Id : 5330722154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez ces auteurs dans I’ordre chronologique (du plus moderne au plus ancien).

Choisissez la bonne réponse :

2
3.
4

Mg 0w

Rabelais
Marivaux

Adam de la Halle
Corneille

Musset

AC.EDB
DC.E.BoA
E.B,D AC
E.CADB

Question Number : 97 Question Id : 5330722155 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Lesquelles de ces ceuvres ont €te €crites par Jean Racine ?
A. Britannicus

B. Les Epitres

C. Le Cid

D. Mithridate

Choisissez la bonne réponse :

1. AetB
i AetC
% CetD
4, AetD

Question Number : 97 Question Id : 5330722155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquelles de ces ceuvres ont €te ecrites par Jean Racine ?
A. Britannicus

B. Les Epitres

C. Le Cid

D. Mithridate

Choisissez la bonne réponse :

1. AetB
o AetC
Z. CetD
4. AetD

Question Number : 98 Question Id : 5330722156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelles étaient les deux grandes passions de Blaise Pascal ?
A. Peinture

B. Sculpture

C. Sciences

D. Religion

Choisissez la bonne réponse :

1. AetB
o BetC
% AetD
4. CetD

Question Number : 98 Question Id : 5330722156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Quelles étaient les deux grandes passions de Blaise Pascal ?

A. Peinture

B. Sculpture

C. Sciences

D. Religion

Choisissez la bonne réponse :
1. AetB

2. BetC

3 AetD

4 CetD

Question Number : 99 Question Id : 5330722157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A Colonne B
A. Joachim du Bellay L Maximes
B. Marquis de Sade II. Les Cent balades sur divers sujets
. Francois de la Rochefoucauld | IIl.  Défense et illustration de la langue frangaise
D. Christine de Pisan IV. Frangais, encore un effort si vous voulez étre
républicains ...

Choisissez la bonne réponse :

%
3.
4

A-L B-IV, C-111, D-11
A-1V, B-1, C-11, D-111
A-IIL, B-1I, C-1V, D-1
A-IIL B-1V, C-1, D-11

Question Number : 99 Question Id : 5330722157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A Colonne B
A. Joachim du Bellay L Maximes
B. Marquis de Sade II. Les Cent balades sur divers sujets
. Francois de la Rochefoucauld | IIl.  Défense et illustration de la langue frangaise
D. Christine de Pisan IV. Frangais, encore un effort si vous voulez étre
républicains ...

Choisissez la bonne réponse :

1
2,
3,
4.

A-L B-IV, C-111, D-11
A-1V, B-1, C-11, D-111
A-IIL, B-1I, C-1V, D-1
A-IIL, B-1V, C-1, D-11
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Question Number : 100 Question Id : 5330722158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A Colonne B

A. Marguerite de Navarre I Le Lai de Cheévrefeuilles

B. René Descartes Il Paul et Virginie

C Marie de France 111 Heptaméron

D. Bernardin de Saint Pierre | IV. Traité des passions de I'dme
Choisissez la bonne réponse :
I A-IIL, B-1V, C-1, D-1I
2. A-IL, B-111, C-1V, D-1
3 A-L B-1v, C-111, D-1I
4. A-1V, B-1, C-111, D-11

Question Number : 100 Question Id : 5330722158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A Colonne B

A. Marguerite de Navarre I Le Lai de Cheévrefeuilles

B. René Descartes Il Paul et Virginie

C Marie de France 111 Heptaméron

D. Bernardin de Saint Pierre | IV. Traité des passions de I'dme
Choisissez la bonne réponse :
I A-IIL, B-1V, C-1, D-1I
2. A-IL, B-111, C-1V, D-1
3 A-L B-1v, C-111, D-1I
4. A-1V, B-1, C-111, D-11

Question Number : 101 Question Id : 5330722159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Classez les niveaux du CECR dans I’ ordre descendant (du plus haut au plus bas) :

Niveau découverte

Maitrise

Niveau seuil

Niveau avancé

Mmoo w

Niveau autonome

Choisissez la bonne réponse :
L. B.C.A,D,E

3. B,E,D,C, A
3. C,D,E A, B
4 E,B,D, A,C

Question Number : 101 Question Id : 5330722159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez les niveaux du CECR dans I’ ordre descendant (du plus haut au plus bas) :
Niveau découverte

Maitrise

Niveau seuil

Niveau avancé

Mmoo w

Niveau autonome
Choisissez la bonne réponse :
BCADE
B,E.D,C, A
C.D,E.A. B
E.B,D,A,C

B L B e

Question Number : 102 Question Id : 5330722160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la Colonne A a ceux de la Colonne B.

Colonne A Colonne B

A. Le Cours de la langue et de la |l L. approche actionnelle
civilisation francaises ( le Mauger
Bleu)

B. Voix et Images de France IL La méthode directe

C. Espaces 1L La méthode SGAV

D. Cosmopolite IV.  L’approche communicative

Choisissez la bonne réponse :
I A- 111, B-1V, C-11, D-1
2, A-I1, B-111, C-1, D-1V
3. A-I1, B-111, C-1V, D-1
4 A-1V, B-1, C-1II, D-11

Question Number : 102 Question Id : 5330722160 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la Colonne A a ceux de la Colonne B.

Colonne A Colonne B

A. Le Cours de la langue et de la |l L’approche actionnelle
civilisation francaises ( le Mauger
Bleu)

B. Voix et Images de France IL. La méthode directe

C. Espaces 1L La méthode SGAV

B, Cosmopolite IV.  L’approche communicative

Choisissez la bonne réponse :
I A- 111, B-1V, C-11, D-1
2, A-Il, B-111, C-1, D-1V
3. A-I1, B-111, C-1V, D-1
4 A-IV, B-1, C-1I1, D-1I

Question Number : 103 Question Id : 5330722161 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la Colonne A a ceux de la Colonne B.

Colonne A

Colonne B

A. Evaluation continue

I. Placer 1’apprenant a un niveau donné sur

une €chelle constituée de plusieurs niveaux.

B. Evaluation directe

II. Classer les apprenants les uns par rapport

aux autres

C. Evaluation normative

IIL. Evaluer ce que I’apprenant est en train de
faire. Ex. Lors d'une discussion en sous-
groupe, le professeur observe, note selon des

criteres d’une grille et donne son évaluation.

D. Evaluation sur une échelle

IV. Evaluer la performance, les travaux et les
projets réalisés pendant le cours. La note
finale refléte ainsi 1’ensemble du cours, de
I’année ou du semestre.

Choisissez la bonne réponse :
A-1V, B-III, C-I1, D-1
A-1, B-IL. C-IIL, D-IV
A-IL, B-1V, C-111, D-1
A-IIL, B-1, C-1V, D-II

B b e

Question Number : 103 Question Id : 5330722161 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la Colonne A a ceux de la Colonne B.

Colonne A

Colonne B

A. Evaluation continue

I. Placer 1’apprenant a un niveau donné sur

une €chelle constituée de plusieurs niveaux.

B. Evaluation directe

II. Classer les apprenants les uns par rapport

aux autres

C. Evaluation normative

IIL. Evaluer ce que I’apprenant est en train de
faire. Ex. Lors d'une discussion en sous-
groupe, le professeur observe, note selon des

criteres d’une grille et donne son évaluation.

D. Evaluation sur une échelle

IV. Evaluer la performance, les travaux et les
projets réalisés pendant le cours. La note
finale refléte ainsi 1’ensemble du cours, de
I’année ou du semestre.

Choisissez la bonne réponse :
A-1V, B-III, C-I1, D-1
A-1, B-IL. C-IIL, D-IV
A-IL, B-1V, C-111, D-1
A-IIL, B-1, C-1V, D-II

B b e

Question Number : 104 Question Id : 5330722162 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

D’apres Canal et Swain, quels sont les composants de la compétence sociolinguistique ?

A Des stratégies verbales et non-verbales.
B. Des régles grammaticales.

C. Des regles du discours.

D. Des regles socioculturelles.

Choisissez la bonne réponse :

1. AetB
5 AetC
% BetC
4, CetD

Question Number : 104 Question Id : 5330722162 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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D’apres Canal et Swain, quels sont les composants de la compétence sociolinguistique ?

A. Des stratégies verbales et non-verbales.
B. Des régles grammaticales.

C Des regles du discours.

D. Des régles socioculturelles.

Choisissez la bonne réponse :

1. AetB
2. AetC
% BetC
4, CetD

Question Number : 105 Question Id : 5330722163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels des manuels suivants ont été congus pour un public indien ?
A, Entre Jeunes

B. Alter Ego

C. Archipel

D. La Méthode Rose

Choisissez la bonne réponse :

1. AetB
i AetC
Z. AetD
4, BetC

Question Number : 105 Question Id : 5330722163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels des manuels suivants ont été congus pour un public indien ?

A. Entre Jeunes
B. Alter Ego
C. Archipel

D. La Méthode Rose

Choisissez la bonne réponse :

1. AetB
o AetC
Z. AetD
4. BetC

Question Number : 106 Question Id : 5330722164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Qui a introduit la notion des besoins langagiers dans la didactique des langues ?

Choisissez la bonne réponse :

2.
3.
4

Dell Hymes
Noam Chomsky
Austin et Searle

René Richterich

Question Number : 106 Question Id : 5330722164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui a introduit la notion des besoins langagiers dans la didactique des langues ?

Choisissez la bonne réponse :

2.
3.
4

Dell Hymes
Noam Chomsky
Austin et Searle

René Richterich

Question Number : 107 Question Id : 5330722165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est la forme complete des TICE ?

Choisissez la bonne réponse :

2.
3.
4

Les Techniques de I'Information et de la Communication en Education.
Les Technologies de I'Information et de la Communication en Education.

Les Technologies de I'Information et de la Communication dans I’Enseignement.

Les Techniques de I'Information et de la Communication dans I’Enseignement.

Question Number : 107 Question Id : 5330722165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est la forme complete des TICE ?

Choisissez la bonne réponse :

2.
3.
4

Les Techniques de I'Information et de la Communication en Education.
Les Technologies de I'Information et de la Communication en Education.

Les Technologies de I'Information et de la Communication dans I’Enseignement.

Les Techniques de I'Information et de la Communication dans I’Enseignement.

Question Number : 108 Question Id : 5330722166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Qui a participé dans 1’€laboration des principes de la Méthode SGAV ?

Choisissez la bonne réponse :

2.
3.
4

Les chercheurs de I'Université de Zaghreb et de I'ENS de Saint-Cloud.

L’armee americaine et les linguistes américains.
Les linguistes britanniques et les linguistes francais.

Les linguistes britanniques et les linguistes américains.

Question Number : 108 Question Id : 5330722166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui a participe dans I’¢laboration des principes de la Methode SGAV ?

Choisissez la bonne réponse :

2.
3.
4

Les chercheurs de I"Universite de Zaghreb et de 'ENS de Saint-Cloud.

L’armee ameéricaine et les linguistes américains.
Les linguistes britanniques et les linguistes francais.

Les linguistes britanniques et les linguistes américains.

Question Number : 109 Question Id : 5330722167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Comment le CECR désigne-t-il I"apprenant ?

Choisissez la bonne réponse :

2.
3.
4

Un apprenant passif.
Une star.
Un apprenant paresseux.

Un acteur social.

Question Number : 109 Question Id : 5330722167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Comment le CECR désigne-t-il I’apprenant ?

Choisissez la bonne réponse :

2
3.
4

Un apprenant passif.
Une star.
Un apprenant paresseux.

Un acteur social.

Question Number : 110 Question Id : 5330722168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Qui a préparé le Dictionnaire de la Didactique des Langues (DDL) ?

Choisissez la bonne réponse :

2.
3.
4

Jean-Pierre CUQ

Jean DUBOIS

Yves REUTER

Robert GALISSON et Daniel COSTE

Question Number : 110 Question Id : 5330722168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui a préparé le Dictionnaire de la Didactique des Langues (DDL) ?

Choisissez la bonne réponse :

2.
3.
4

Jean-Pierre CUQ

Jean DUBOIS

Yves REUTER

Robert GALISSON et Daniel COSTE

Question Number : 111 Question Id : 5330722169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Avec quel mouvement artistique associe-t-on le nom de Gustav Courbet ?

Choisissez la bonne réponse :

2.
3.
4

Le classicisme
Le réalisme
Le nabisme

Le cubisme

Question Number : 111 Question Id : 5330722169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Avec quel mouvement artistique associe-t-on le nom de Gustav Courbet ?

Choisissez la bonne réponse :

2
3.
4

Le classicisme
Le réalisme
Le nabisme

Le cubisme

Question Number : 112 Question Id : 5330722170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Quel est le réalisateur du film, Masculin/Féminin ?
Choisissez la bonne réponse :
1. Jean Renoir
2. Robert Bresson
o Jean-Luc Godard
4

Luc Besson

Question Number : 112 Question Id : 5330722170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel est le réalisateur du film, Masculin/F éminin ?
Choisissez la bonne réponse :

I Jean Renoir

2, Robert Bresson

9 Jean-Luc Godard
4

Luc Besson

Question Number : 113 Question Id : 5330722171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel artiste a mis en musique et a chante 1’ceuvre des poetes comme Rimbaud, Verlaine et
Baudelaire, parmi d’autres ?

Choisissez la bonne réponse :

1 Georges Brassens
2, Johnny Hallyday
3, Jacques Brel

4. Léo Ferré

Question Number : 113 Question Id : 5330722171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel artiste a mis en musique et a chante 1’ceuvre des poetes comme Rimbaud, Verlaine et
Baudelaire, parmni d’autres ?

Choisissez la bonne réponse :

1; Georges Brassens
2, Johnny Hallyday
3 Jacques Brel

4. Léo Ferré

Question Number : 114 Question Id : 5330722172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Quel sport pratique Kylian Mbappé ?

Choisissez la bonne réponse :

I La natation
2, L’escrime

) Le football
4 Le cyclisme

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 114 Question Id : 5330722172 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Quel sport pratique Kylian Mbappé ?

Choisissez la bonne réponse :

I La natation
2, L’escrime
9 Le football
4 Le cyclisme

Question Number : 115 Question Id : 5330722173 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Quel cinéaste frangais a tourn€ plus d’une centaine de films en Afrique ?

Choisissez la bonne réponse :

{5 René Vautier

2, Jean Rouch

3 Claude Lelouch
4 Claude Jutra

Question Number : 115 Question Id : 5330722173 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Quel cineaste francgais a tourne plus d’une centaine de films en Afrique ?

Choisissez la bonne réponse :

I René Vautier

2, Jean Rouch

) 9 Claude Lelouch
4 Claude Jutra

Question Number : 116 Question Id : 5330722174 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A Colonne B
A. La vie en rose L. Jacques Brel
B. Ne me quitte pas IL Edith Piaf
& Comme d’habitude | 111.  Claude Frangois
D. Douce France IV.  Charles Trenet
Choisissez la bonne réponse :
I A-IIL, B-1, C-11, D-1V
2. A-L, B-1I1, C-1V, D-1I
3 A-IV, B-11, C-111, D-1
4. A-I1, B-1, C-111, D-1V

Question Number : 116 Question Id : 5330722174 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A Colonne B
A. La vie en rose L. Jacques Brel
B. Ne me quitte pas IL Edith Piaf
& Comme d’habitude | 111.  Claude Frangois
D. Douce France IV.  Charles Trenet
Choisissez la bonne réponse :
I A-IIL, B-1, C-11, D-1V
2. A-L, B-1I1, C-1V, D-1I
3 A-IV, B-11, C-111, D-1
4. A-I1, B-1, C-111, D-1V

Question Number : 117 Question Id : 5330722175 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B

Colonne A Colonne B

A La Haine L Mathieu Kassovitz
B. Sans toit ni loi IL Francois Truffaut
C. Jean de Floreite III.  Agnés Varda

D. Les quatre cents coups | IV.  Claude Berri
Choisissez la bonne réponse :

1 A-IL, B-1, C-1V, D-III

2. A-IIIL, B-1, C-11, D-1V

3 A-1, B-1I1, C-1V, D-1I

4. A-1V, B-11, C-111, D-1
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Question Number : 117 Question Id : 5330722175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B

Colonne A Colonne B

A La Haine L Mathieu Kassovitz
B. Sans toit ni loi IL Francois Truffaut
. Jean de Florette III.  Agnés Varda

D. Les quatre cents coups | IV.  Claude Berri
Choisissez la bonne réponse :

I A-I1, B-1, C-1V, D-III

2. A-IIIL, B-1, C-11, D-1V

3 A-1, B-111, C-1V, D-1I

4. A-1V, B-11, C-111, D-1

Question Number : 118 Question Id : 5330722176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelles étaient les deux grandes passions de Boris Vian ?

A.
B.
C.
D.

La littérature
La peinture
La sculpture

La musique

Choisissez la bonne réponse :

B AR B e

AetB
AetD
BetC
CetD

Question Number : 118 Question Id : 5330722176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelles étaient les deux grandes passions de Boris Vian ?

A,
B.
C.
D.

La littérature
La peinture
La sculpture

La musique

Choisissez la bonne réponse :

Bl IR e

AetB
AetD
BetC
CetD

Question Number : 119 Question Id : 5330722177 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
Lesquels de ces artistes sont des représentants du Rai (courant de la musique algérienne)

A,
B.
C.

D.

Indila

Khaled

Georges Brassens
Cheb Mami

Choisissez la bonne réponse :

B R B e

AetB
AetC
BetC
BetD

Question Number : 119 Question Id : 5330722177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels de ces artistes sont des représentants du Rai (courant de la musique algérienne)

A.

B.
C.

D.

Indila

Khaled

Georges Brassens
Cheb Mami

Choisissez la bonne réponse :

B Ly B

AetB
AetC
BetC
BetD

Question Number : 120 Question Id : 5330722178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dans quel ordre chronologique (du plus ancien au plus récent) pourrait-on classer ces mouvements

artistiques ?

Mg 0@ »

Le surréalisme

Le romantisme
L’umpressionnisime
Le dadaisme

Le cubisme

Choisissez la bonne réponse :

g i bk

CHADE
B,C,E,D, A
D.E,B,C, A
B,C.A.E.D

Question Number : 120 Question Id : 5330722178 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Dans quel ordre chronologique (du plus ancien au plus récent) pourrait-on classer ces mouvements

artistiques ?

m g0« »

Le surréalisme

Le romantisme
L’impressionnisme
Le dadaisme

Le cubisme

Choisissez la bonne réponse :

e S 23

CHEADE
B,C.E,D, A
D,E.B,C. A
B,C.A.E,D

Question Number : 121 Question Id : 5330722179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est I’équivalence du proverbe ‘Chat échaude craint 1’ eau froide” en anglais ?

Choisissez la bonne réponse :

2.
3.
4

Curiosity killed the cat.
Let sleeping dogs lie.
Once bitten twice shy.

Every cat in the twilight is grey.

Question Number : 121 Question Id : 5330722179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est I’equivalence du proverbe ‘Chat echaudé craint I’eau froide’ en anglais ?

Choisissez la bonne réponse :

2
3.
4

Curiosity killed the cat.
Let sleeping dogs lie.
Once bitten twice shy.

Every cat in the twilight is grey.

Question Number : 122 Question Id : 5330722180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A Colonne B
A. Dormir a la belle étoile L To be born under a lucky star
B. Passez une nuit blanche IL To sleep in
C. Etre né coiffé III.  To spend a sleepless night
D. Faire la grasse matinée IV.  To sleep outdoors
Choisissez la bonne réponse :
I A-IV, B-11, C-111, D-1
2. A-L, B-11, C-1V, D-1II
3 A-II, B-1II, C-1, D-1V
4. A-IV, B-111, C-1, D-11

Question Number : 122 Question Id : 5330722180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A Colonne B
A. Dormir a la belle étoile L To be born under a lucky star
B. Passez une nuit blanche IL To sleep in
C. Etre né coiffé III.  To spend a sleepless night
D. Faire la grasse matinée IV.  To sleep outdoors
Choisissez la bonne réponse :
I A-IV, B-11, C-111, D-1
2. A-L, B-11, C-1V, D-1II
3 A-II, B-1II, C-1, D-1V
4. A-1V, B-111, C-1, D-11

Question Number : 123 Question Id : 5330722181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Que signifie I’expression « vivre au jour le jour » en anglais ?

Choisissez la bonne réponse :

2.
3.
4

To bite off more than you can chew
To live from hand to mouth.
To move heaven and earth.

To walk out on a job.

Question Number : 123 Question Id : 5330722181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Que signifie I’expression « vivre au jour le jour » en anglais ?

Choisissez la bonne réponse :

I To bite off more than you can chew
2 To live from hand to mouth.

) To move heaven and earth.

4 To walk out on a job.

Question Number : 124 Question Id : 5330722182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Que veut dire « en avoir plein le dos » ?

A. En avoir assez
B. Etre fatigué de tout.
C. Etre malade apres avoir trop bu.

D. Avoir mal au dos.

Choisissez la bonne réponse :

1. AetB
5 AetC
% BetC
4, CetD

Question Number : 124 Question Id : 5330722182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Que veut dire « en avoir plein le dos » ?

A. En avoir assez

B. Etre fatigué de tout.

C. Etre malade apres avoir trop bu.
D. Avoir mal au dos.

Choisissez la bonne réponse :

1. AetB
2 AetC
% BetC
4, CetD

Question Number : 125 Question Id : 5330722183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel est le sens de I’ expression « retourner le couteau dans la plaie » ?

Choisissez la bonne réponse :

I Etre en excellente santé.
2 Vouloir I'impossible.

3 Aggraver les choses.

4 Révéler un secret.
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Question Number : 125 Question Id : 5330722183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel est le sens de I’ expression « retourner le couteau dans la plaie » ?

Choisissez la bonne réponse :

I Etre en excellente santé.
2 Vouloir I’impossible.

3 Aggraver les choses.

4 Révéler un secret.

Question Number : 126 Question Id : 5330722184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel procédé de traduction est employeé dans 1’exemple ci-dessous ?
Travaux en cours : men at work.

Choisissez la bonne réponse :

L Traduction littérale
2 Calque

3 Emprunt

4. Equivalence

Question Number : 126 Question Id : 5330722184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel procédé de traduction est employe dans I’exemple ci-dessous ?
Travaux en cours : men at work.

Choisissez la bonne réponse :

L Traduction littérale
Z, Calque

3, Emprunt

4. Equivalence

Question Number : 127 Question Id : 5330722185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Quelle est la bonne traduction de la phrase suivante ?

Est-ce que Pierre est de retour ?

A From where Pierre comes?
B. Is Pierre returning from there?
C. Has Pierre come back?

D. Is Pierre back?

Choisissez la bonne réponse :

1. AetB
i BetC
% BetD
4 CetD

Question Number : 127 Question Id : 5330722185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est la bonne traduction de la phrase suivante ?

Est-ce que Pierre est de retour ?

A From where Pierre comes?
B. Is Pierre returning from there?
C. Has Pierre come back?

D. Is Pierre back?

Choisissez la bonne réponse :

1. AetB
o BetC
% BetD
4. CetD

Question Number : 128 Question Id : 5330722186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelle est la bonne traduction de la phrase suivante ?

Il y avait trop d'invités.

Choisissez la bonne réponse :

L There were too many guests.
2, Many guests came.

3, There were guests too.

4. The guests were many.

Question Number : 128 Question Id : 5330722186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Quelle est la bonne traduction de la phrase suivante ?

Il v avait trop d’invités.

Choisissez la bonne réponse :

il s

There were too many guests.

Many guests came.
There were guests too.

The guests were many.

Question Number : 129 Question Id : 5330722187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A

Colonne B

UFO

SIDA

IMF

I1.

OTAN

(3 B

AIDS

II1.

OVNI

D.

NATO

IV.

FMI

Choisissez la bonne réponse :
I;

e b2

i

A-IIL, B-II, C-1, D-1V
A-IIL B-1V, C-1, D-11
A-II, B-III, C-1, D-1V
A-1, B-11, C-1V, D-111

Question Number : 129 Question Id : 5330722187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B.

Colonne A

Colonne B

UFO

SIDA

IMF

I1.

OTAN

(3 )

AIDS

II1.

OVNI

D.

NATO

IV.

FMI

Choisissez la bonne réponse :
I;

o i

i

A-IIL, B-II, C-1, D-1V
A-IIL B-1V, C-1, D-11
A-II, B-1II, C-1, D-1V
A-1, B-11, C-1V, D-111

Question Number : 130 Question Id : 5330722188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Quelles sont les bonnes traductions de la phrase suivante?

Four killed when a car falls into a ditch.

A,
B.
C.
D.

Une voiture a failli tomber dans un fossé et quatre personnes sont mortes.

Une voiture plonge dans un fossé : quatre morts.
La chute d’une voiture dans un fosse cause la mort de quatre personnes.

Une voiture était en train de tomber dans un fossé : quatre morts.

Choisissez la bonne réponse :

2.
3.
4

AetC
AetD
BetC
CetD

Question Number : 130 Question Id : 5330722188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quelles sont les bonnes traductions de la phrase suivante?

Four killed when a car falls into a ditch.

A.
B.
C.
D.

Une voiture a failli tomber dans un fossé et quatre personnes sont mortes.

Une voiture plonge dans un fossé : quatre morts.
La chute d’une voiture dans un fossé cause la mort de quatre personnes.

Une voiture €tait en train de tomber dans un fossé : quatre morts.

Choisissez la bonne réponse :

B L B e

AetC
AetD
BetC
CetD

Question Number : 131 Question Id : 5330722189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lequel de ces romans est écrit par Assia Djebar 7

Choisissez la bonne réponse :

1
2,
3

4.

Le Journal de Mile d’Arvers
Nedjma

L ’Amour, la fantasia

L Interdite

Question Number : 131 Question Id : 5330722189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Lequel de ces romans est écrit par Assia Djebar ?

Choisissez la bonne réponse :

1 Le Journal de Mile d’Arvers

Z, Nedjma
3. L’Amour, la fantasia
4. L Interdite

Question Number : 132 Question Id : 5330722190 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Qui est I'autewr du roman intitulé Nour, 1947 ?

Choisissez la bonne réponse :

I Michel Rokotosom

2 Jean-Luc Raharimanana
3, Mongo Beti

4 Cheikh Hamidou Kane

Question Number : 132 Question Id : 5330722190 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Qui est I'autewr du roman intitulé Nour, 1947 ?

Choisissez la bonne réponse :

{5 Michel Rokotosom

2 Jean-Luc Raharimanana
3 Mongo Beti

4 Cheikh Hamidou Kane

Question Number : 133 Question Id : 5330722191 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Lequel de ces romans est une ceuvre posthume de son auteur ?

Choisissez la bonne réponse :

I. Le Premier homme
Z, L ’Etranger

) 9 La Peste

4 La Chute

Question Number : 133 Question Id : 5330722191 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Lequel de ces romans est une ceuvre posthume de son auteur ?

Choisissez la bonne réponse :

1. Le Premier homme
Z, L ’Etranger

) La Peste

4 La Chute

Question Number : 134 Question Id : 5330722192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez les ceuvres suivantes dans I’ ordre chronologique de leur parution (depuis la plus ancienne
a la plus récente).
A Habel

La Nuit de [ 'erreur

Le Passé simple

B
C
D Le Premier homme
E

Pascualette |'Algérien
Choisissez la bonne réponse :
I; E.C,A,B.D
2 E.D,A,C,B
3. C,D,E.A B
4 D,C;E;B, A

Question Number : 134 Question Id : 5330722192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Classez les ceuvres suivantes dans I’ ordre chronologique de leur parution (depuis la plus ancienne
a la plus récente).

A Habel

B La Nuit de [ 'erreur

5% Le Passé simple

D Le Premier homme

E Pascualette I’Algérien

Choisissez la bonne réponse :

| 18 E,C,A,B,D

E,D,A,C,B
3. C.D,E,A,B
4. D,C,E,;B, A

Question Number : 135 Question Id : 5330722193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A (concept) Colonne B (auteur)

A Tout-monde L. Gilles Deleuze
B. Rhizome I1. Edouard Glissant
€. Coolitude II. Jacques Derrida

D. Déconstruction | IV.  Khal Torabully

Choisissez la bonne réponse :
I A-I1, B-1, C-1V, D-1II

2. A-II, B-1V, C-1, D-111
3. A-L B-III, C-1V, D-11
4. A-1V, B-III, C-11, D-1

Question Number : 135 Question Id : 5330722193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A i ceux de la colonne B

Colonne A (concept) Colonne B (auteur)

A Tout-monde L. Gilles Deleuze
B. Rhizome I1. Edouard Glissant
€. Coolitude II. Jacques Derrida

D. Déconstruction | IV.  Khal Torabully

Choisissez la bonne réponse :
I A-I1, B-1, C-1V, D-1II

2. A-II, B-1V, C-1, D-111
3. A-L B-III, C-1V, D-11
4. A-1V, B-III, C-11, D-1

Question Number : 136 Question Id : 5330722194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels de ces ouvrages ont été écrits par Nathacha Appanah ?
A. Les Rochers de poudre d’or

B. En attendant demain

C. Paradis blues

D. Indian Tango

Choisissez la bonne réponse :

1. AetB
2. AetC
% BetC
4, CetD

Question Number : 136 Question Id : 5330722194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Lesquels de ces ouvrages ont été écrits par Nathacha Appanah ?

A.
B.
B8
D.

Les Rochers de poudre d’or

En attendant demain

Paradis blues

Indian Tango

Choisissez la bonne réponse :

B AR T e

AetB
AetC
BetC
CetD

Question Number : 137 Question Id : 5330722195 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B :

Colonne A (auteur) Colonne B (ceuvre)

A. Mongo Beti i Une si longue lettre

B. Mariama Ba II. Kamouraska

(8 Anne Hébert I, Le pauvre Christ de Bomba
D. Raphaél Confiant | IV. La panse du chacal

Choisissez la bonne réponse :
A-IL, B-1, C-1V, D-1II
A-IIL, B-1, C-11, D-1V
A-1, B-II1, C-1V, D-II
A-1V, B-11, C-111, D-1

o

P~

Question Number : 137 Question Id : 5330722195 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Reliez les éléments de la colonne A a ceux de la colonne B :

Colonne A (auteur) Colonne B (ceuvre)

A. Mongo Beti i Une si longue lettre

B. Mariama Ba II. Kamouraska

(8 Anne Hébert I, Le pauvre Christ de Bomba
D. Raphaél Confiant | IV. La panse du chacal

Choisissez la bonne réponse :
A-IL, B-1, C-1V, D-1II
A-IIL, B-1, C-11, D-1V
A-1, B-II1, C-1V, D-II
A-1V, B-11, C-111, D-1

o

P~

Question Number : 138 Question Id : 5330722196 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Lesquels de ces auteurs sont associés au mouvement de la créolité ?
A. Ousmane Sembéne

B. Véronique Tadjo

C. Patrick Chamoiseau

D. Raphaél Confiant

Choisissez la bonne réponse :

1. AetB
i AetC
% BetC
4, CetD

Question Number : 138 Question Id : 5330722196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels de ces auteurs sont associés au mouvement de la créolité ?
A. Ousmane Sembéne

B. Véronique Tadjo

C. Patrick Chamoiseau

D. Raphaél Confiant

Choisissez la bonne réponse :

1. AetB
o AetC
Z. BetC
4. CetD

Question Number : 139 Question Id : 5330722197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lesquels de ces écrivains sont associés au mouvement « beur » ?
A. Mehdi Charef

B. Assia Djebar

C. Dai Sijie

D. Soraya Nini

Choisissez la bonne réponse :

1. AetB
o AetC
% AetD
4. BetD

Question Number : 139 Question Id : 5330722197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Lesquels de ces écrivains sont associés au mouvement « beur » ?
A. Mehdi Charef
B. Assia Djebar
C. Dai Sijie
D. Soraya Nini

Choisissez la bonne réponse :

1. AetB
2. AetC
% AetD
4, BetD

Question Number : 140 Question Id : 5330722198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui est I"auteur du pamphlet « Discours sur le colonialisme » ?
Choisissez la bonne réponse :

I; Aimé Césaire

2 Léopold Sédar Senghor

3 David Diop

-+ Léon G Damas

Question Number : 140 Question Id : 5330722198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qui est I"auteur du pamphlet « Discours sur le colonialisme » ?
Choisissez la bonne réponse :

1. Aimé Césaire

Z, Léopold Sédar Senghor

3, David Diop

4. Léon G Damas
Sub-Section Number : 2
Sub-Section Id : 53307289
Question Shuffling Allowed : No

Question Id : 5330722199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Lisez le texte ci-dessous, puis répondez aux questions qui suivent.

Il sera désormais plus difficile d’acquerir la nationalite frangaise si le niveau de francais de
postulant est insuffisant. Jusqu’a présent, 1’évaluation du niveau de connaissance du francais du
demandeur s’effectuait au cours d’un entretien avec un agent de la prefecture lors du depot du
dossier. La loi en vigueur depuis le 1*" janvier 2012 durcit le processus.

Les personnes qui souhaitent devenir francais doivent fournir un diplome ou une
attestation délivrée par un organisme portant le label « Francais langue d’intégration. » Les
pretendants devront ainsi justifier d’'un niveau de maitrise du francais équivalent a celui d’un €leve
de classe de 3° des colleges.

Lors de son acquisition de la nationalité francaise, le postulant d’une part devra connaitre
des notions de I'histoire, de la culture et de la soci€te francaises. D’autre part, I’interesseé devra
indiquer aux autorites competentes la ou les nationalités qu’il possede de¢ja, celle (s) qu’il veut
conserver en plus de la nationalité francaise ou celle(s) qu’il veut renoncer.

Sub questions

Question Number : 141 Question Id : 5330722200 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
Avant le 1" janvier 2012, comment un demandeur de la nationalité francaise faisait-il preuve de sa
connaissance du francais 7

Choisissez la bonne réponse :

A I1 devait réussir a I’examen du troisieme au college.

2. I1 devait obtenir une attestation de son niveau aupres d’une autorite competente.
3. Il devait obtenir une attestation de ses connaissances culturelles.

4. Il devait se présenter a la préfecture pour une interview.

Question Number : 142 Question Id : 5330722201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Drapres la loi en usage, quelle est une des conditions linguistiques nécessaires pour obtenir la

nationalité francaise ?

Choisissez la bonne réponse :

I Avoir une bonne connaissance de [’histoire, de la culture et de la société francaises.
Passer un entretien a la préfecture.

8 Obtenir un certificat d’une institution designee et labellisée confirmant le niveau du
francais requis.

4+ Obtenir un certificat d’un agent de la prefecture.

Question Number : 143 Question Id : 5330722202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Trouvez dans le texte un mot/une expression qui veut dire « a partir du moment actuel »

Choisissez la bonne réponse :

Ll ol

jusqu’a présent
désormais
lors de

au cours d’

Question Number : 144 Question Id : 5330722203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Trouvez dans le texte un mot qui désigne «une personne souhaitant acquérir la nationalité

francaise »

Choisissez la bonne réponse :

-l ol o

Un agent
Un éleve
Un intéressé
Un label

Question Number : 145 Question Id : 5330722204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Que designe |’expression « la loi en vigueur »

Choisissez la bonne réponse :

2.
3.
4

La loi actuelle.
La loi tombée en désuétude.
La loi a promulguer.

La loi obsoléte.

Question Id : 5330722199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Lisez le texte ci-dessous, puis répondez aux questions qui suivent.

Il sera désormais plus difficile d’acquerir la nationalite frangaise si le niveau de francais de
postulant est insuffisant. Jusqu’a présent, 1’évaluation du niveau de connaissance du francais du
demandeur s’effectuait au cours d’un entretien avec un agent de la prefecture lors du depot du
dossier. La loi en vigueur depuis le 1*" janvier 2012 durcit le processus.

Les personnes qui souhaitent devenir francais doivent fournir un diplome ou une
attestation délivrée par un organisme portant le label « Francais langue d’intégration. » Les
pretendants devront ainsi justifier d’'un niveau de maitrise du francais équivalent a celui d’un €leve
de classe de 3° des colleges.

Lors de son acquisition de la nationalité francaise, le postulant d’une part devra connaitre
des notions de I'histoire, de la culture et de la soci€te francaises. D’autre part, I’interesseé devra
indiquer aux autorites competentes la ou les nationalités qu’il possede de¢ja, celle (s) qu’il veut
conserver en plus de la nationalité francaise ou celle(s) qu’il veut renoncer.

Sub questions

Question Number : 141 Question Id : 5330722200 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
Avant le 1" janvier 2012, comment un demandeur de la nationalité francaise faisait-il preuve de sa
connaissance du francais 7

Choisissez la bonne réponse :

A I1 devait réussir a I’examen du troisieme au college.

2. I1 devait obtenir une attestation de son niveau aupres d’une autorite competente.
3. Il devait obtenir une attestation de ses connaissances culturelles.

4. Il devait se présenter a la préfecture pour une interview.

Question Number : 142 Question Id : 5330722201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Drapres la loi en usage, quelle est une des conditions linguistiques nécessaires pour obtenir la

nationalité francaise ?

Choisissez la bonne réponse :

I Avoir une bonne connaissance de [’histoire, de la culture et de la société francaises.
Passer un entretien a la préfecture.

8 Obtenir un certificat d’une institution designee et labellisée confirmant le niveau du
francais requis.

4+ Obtenir un certificat d’un agent de la prefecture.

Question Number : 143 Question Id : 5330722202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Trouvez dans le texte un mot/une expression qui veut dire « a partir du moment actuel »

Choisissez la bonne réponse :

i S

jusqu’a présent
désormais
lors de

au cours d’

Question Number : 144 Question Id : 5330722203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Trouvez dans le texte un mot qui désigne «une personne souhaitant acquérir la nationalité
francaise »

Choisissez la bonne réponse :

-l ol o

Un agent
Un éléve
Un intéressé
Un label

Question Number : 145 Question Id : 5330722204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Que designe |’expression « la loi en vigueur »

Choisissez la bonne réponse :

1. La loi actuelle.

Z. La loi tombée en désuétude.

3 La loi a promulguer.

4. La loi obsoléte.
Sub-Section Number : 3
Sub-Section Id : 53307290
Question Shuffling Allowed : No

Question Id : 5330722205 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Lisez le texte ci-dessous, puis répondez aux questions qui suivent.

« A- t-on le choix de rire ?» C’est par cette question que le comedien et humoriste Jos
Houben commence une des lecons de son spectacle L’art du rire, joué au théitre du Quai. Ce
professeur n’a pas que des talents d’acteur : il est aussi pédagogue qui anime des stages sur les
themes du clown, du burlesque et du mime, le corps étant au centre de ses préoccupations.
L’ambition de Jos Houben, pendant son spectacle d’une cinquantaine de minutes aux allures de
conference, qui se veut aussi instructif, est d’explorer les ressorts comiques et de montrer
comment nait le rire. Comment faire rire ? Pourquoi et comment rit-on ? Il apporte un éclairage
sur ces questions. Si Jos Houben décortique si bien le rire, c’est qu’il sait que le rire vient de ce
que nous partageons en tant qu’eétre humain. Il le démontre en donnant des exemples sous la
forme de sketches en s’appuyant sur les gestes et les mimes.

Sub questions
Question Number : 146 Question Id : 5330722206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qu’est-ce que L art du rire ?

Choisissez la bonne réponse :

1. Un séminaire de cours de Jos Houben

2 Un spectacle comique de Jos Houben

3, Une conférence scientifique de Jos Houben
4 Un article de Jos Houben dans une revue

Question Number : 147 Question Id : 5330722207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quel est le but de L ‘art du rire ?

Choisissez la bonne réponse :

L. Former le public au metier d’humoriste

2 Faire rire les spectateurs

3, Analyser les mécanismes du rire

4 Faire réfléchir sur les limites de I"humour.

Question Number : 148 Question Id : 5330722208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D’apres le texte, que signifie le mot « décortiquer » ?

Choisissez la bonne réponse :

{2 Eplucher
Z, Analyser
3, Ecorcer
4 Eclater

Question Number : 149 Question Id : 5330722209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 95/97



8/23/24, 12:20 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Selon le texte, comment Jos Houben fait rire son auditoire ?

Choisissez la bonne réponse :

I En jouant avec les mots

2 En faisant participer son public
3 En utilisant le langage corporel
-+ En recourant a la dérision

Question Number : 150 Question Id : 5330722210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Que veut dire 1’expression « aux allures de »?

Choisissez la bonne réponse :

I Qui ressemble a

2 Qui fait allusion a

3 Qui a la méme démarche que
4 Qui se réfere a

Question Id : 5330722205 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Lisez le texte ci-dessous, puis répondez aux questions qui suivent.

« A- t-on le choix de rire ?7» C’est par cette question que le comedien et humoriste Jos
Houben commence une des lecons de son spectacle L’art du rire, joué au théitre du Quai. Ce
professeur n’a pas que des talents d’acteur : il est aussi pédagogue qui anime des stages sur les
themes du clown, du burlesque et du mime, le corps €tant au centre de ses préoccupations.
L’ambition de Jos Houben, pendant son spectacle d’une cinquantaine de minutes aux allures de
conference, qui se veut aussi instructif, est d’explorer les ressorts comiques et de montrer
comment nait le rire. Comment faire rire 7 Pourquoi et comment rit-on ? Il apporte un €clairage
sur ces questions. Si Jos Houben decortique si bien le rire, c’est qu’il sait que le rire vient de ce
que nous partageons en tant qu’étre humain. Il le démontre en donnant des exemples sous la
forme de sketches en s’appuyant sur les gestes et les mimes.

Sub questions
Question Number : 146 Question Id : 5330722206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qu’est-ce que L art du rire ?

Choisissez la bonne réponse :

1. Un séminaire de cours de Jos Houben

2 Un spectacle comique de Jos Houben

3 Une conférence scientifique de Jos Houben
4 Un article de Jos Houben dans une revue

Question Number : 147 Question Id : 5330722207 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Quel est le but de L art du rire ?

Choisissez la bonne réponse :

I Former le public au métier d’humoriste

2 Faire rire les spectateurs

3 Analyser les mécanismes du rire

4 Faire réfléchir sur les limites de "humour.

Question Number : 148 Question Id : 5330722208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Drapres le texte, que signifie le mot « décortiquer » ?

Choisissez la bonne réponse :

1. Eplucher
2 Analyser
3 Ecorcer
4 Eclater

Question Number : 149 Question Id : 5330722209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Selon le texte, comment Jos Houben fait rire son auditoire ?

Choisissez la bonne réponse :

1. En jouant avec les mots

2 En faisant participer son public
3 En utilisant le langage corporel
-+ En recourant a la dérision

Question Number : 150 Question Id : 5330722210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Que veut dire I’expression « aux allures de »?

Choisissez la bonne réponse :

I. Qui ressemble a

2 Qui fait allusion a

3, Qui a la méme démarche que
4 Qui se réfere a
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